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Topic:­ General Science
1)

Question Stimulus :­

A ball moving on a surface is an example of / एक ऺतऻ पर चलतॎ �ई ग�द इऺकॊ उदॊऻरण ऻॖ
                                                               

SlidiŶg fƌiĐ�oŶ / ऺप� घह�ण

Fluid fƌiĐ�oŶ / �श घह�ण

Sta�Đ fƌiĐ�oŶ / �थॖोतक घह�ण

RolliŶg fƌiĐ�oŶ / बॕ� लन घह�ण

Correct Answer :­RolliŶg fƌiĐ�oŶ / बॕ� लन घह�ण 

2)

Question Stimulus :­

A person is suffering from eye defect cannot see nearby objects but can see far away objects. Such a person suffers
from / नॕ� दख़ह ऺॕ पॎोी त � य�� आऺ पॊऺ कॎ श� तॏओ ंकॊ नऻॎ ंदॕख ऺकतॊ ऻॖ लॕोकन ब�त दॐ र कॎ श� तॏओ ंकख़ दॕख ऺकतॊ ऻॖ।
इऺ तरऻ कॊ � य�� इऺऺॕ पॎोी त ऻॖ

MǇopia / ोनकटद◌॑ो�

HǇpeƌŵetƌopia / दॎघ�द◌॑ो�

Astigmatism / �ो� शॖह� य 

ColoƌďliŶdŶess / शणॊ�� धतॊ

Correct Answer :­HǇpeƌŵetƌopia / दॎघ�द◌॑ो� 

3)

Question Stimulus :­

Plastics are used as covering materials in electrical wires and cords because / ोबजलॎ कॕ तॊरख़ ंऔर डख़�रयख़ ंकख़ ढकनॕ कॕ
ोलए �ॊोटक कशर कॊ इ�ॕमॊल ोकयॊ जॊतॊ ऻॖ �ख़ोंक ­

Plastics are good conductors of electricity / �ॊ��क ोबजलॎ कॕ अ�ॕ  ऺंशॊऻक ऻख़तॕ ऻ�।

Plas�Đs aƌe ďad ĐoŶduĐtoƌs of eleĐtƌiĐitǇ / �ॊ��क ोबलजॎ कॕ बॏरॕ ऺंशॊऻक ऻख़तॕ ऻ�।

Plas�Đs do Ŷot ĐatĐh fiƌe easilǇ / �ॊ��क आऺॊनॎ ऺॕ आग नऻॎ ंपकीतॎ ऻॖ ।

Plas�Đs haǀe high theƌŵal ĐoŶduĐ�ǀitǇ / �ॊ��क म� उ� तॊपॎय चॊलकतॊ अोधक ऻख़तॎ ऻॖ।

Correct Answer :­Plas�Đs aƌe ďad ĐoŶduĐtoƌs of eleĐtƌiĐitǇ / �ॊ��क ोबलजॎ कॕ बॏरॕ ऺंशॊऻक ऻख़तॕ ऻ�। 



Correct Answer :­Plas�Đs aƌe ďad ĐoŶduĐtoƌs of eleĐtƌiĐitǇ / �ॊ��क ोबलजॎ कॕ बॏरॕ ऺंशॊऻक ऻख़तॕ ऻ�। 

4)

Question Stimulus :­

When Acetic acid reacts with sodium hydrogen carbonate / जब एोऺोटक अ� ल ऺख़ोडयम ऻॊइट� ख़जन
कॊब�नॕट कॕ ऺॊथ �ोतो�यॊ करतॊ ऻॖ तख़ ­

Baking soda is liberated  / बॕोकंग ऺख़डॊ ोनकलतॊ ऻॖ

Carbon dioxide is liberated / कॊब�न डॊइऑ� ऺ ॊइड ोनकलतॎ ऻॖ

Oxygen is liberated  / ऑ� ऺ ॎजन ोनकलतॎ ऻॖ

Vinegar is liberated  / ोऺरकॊ ोनकलतॊ ऻॖ

Correct Answer :­Carbon dioxide is liberated / कॊब�न डॊइऑ� ऺ ॊइड ोनकलतॎ ऻॖ 

5)

Question Stimulus :­

Identify the insectivorous plant. / कॎटभ�ॎ पग़धख़ ंकख़ पऻचॊन� ­

Pitcher plant / घटपण�

Cuscuta / क�ॏ  टॊ

Amarbel / अमरबॕल

Mushroom / छ�क (मष�म)

Correct Answer :­Pitcher plant / घटपण� 

6)

Question Stimulus :­

Identify the herb among those mentioned below. / नॎचॕ उ� लॕ�खत म� ऺॕ, जीॎ­बॐोटयॊं पऻचॊोनए ­  

Basil / तॏलऺॎ

Rose / गॏलॊब

Mango / आम

Coconut / नॊ�रयल

Correct Answer :­Basil / तॏलऺॎ 

7)

Question Stimulus :­

The plastids that do not have any colour & used to store food is / शख़ � लॊ��ड ोजनकॊ कख़ई रंग नऻॎ ऻख़तॊ और भख़जन
ऺं�ऻ करनॕ म� �यख़ग ोकयॕ जॊतॕ ऻ�, ऻ�  



Chƌoŵoplast / �ख़मख़� लॊ� ट

LeuĐoplast / � यॐकख़� लॊ� ट

GeƌeŶtoplast / जॕरॕनटख़� लॊ� ट

Chloƌoplast / � लख़रख़� लॊ� ट

Correct Answer :­LeuĐoplast / � यॐकख़� लॊ� ट 

8)

Question Stimulus :­

During the process of photosynthesis / �कॊष ऺं� लॕहण कॎ �ो�यॊ कॕ दग़रॊन ­

Electrical energy is converted into chemical energy / ोशद्यॏ त ऊजॊ� कख़ रॊऺॊयोनक ऊजॊ� म� प�रशोत�त ोकयॊ जॊतॊ ऻॖ

Solar energy is converted into chemical energy / ऺग़र ऊजॊ� कख़ रॊऺॊयोनक ऊजॊ� म� प�रशोत�त ोकयॊ जॊतॊ ऻॖ

Mechanical energy to chemical energy / यॊंो�क ऊजॊ�, रॊऺॊयोनक ऊजॊ� म� बदलतॎ ऻॖ

Chemical energy to mechanical energy / रॊऺॊयोनक ऊजॊ�, यॊंो�क ऊजॊ� म� बदलतॎ ऻॖ

Correct Answer :­Solar energy is converted into chemical energy / ऺग़र ऊजॊ� कख़ रॊऺॊयोनक ऊजॊ� म� प�रशोत�त ोकयॊ
जॊतॊ ऻॖ 

9)

Question Stimulus :­

An FM radio station broadcasts Hindi songs at 98.3 MHz. 98.3 MHz refers to/ एक एफएम रॕोडयख़ � टॕषन 98.3 MHz
पर ोऻ� दॎ गॊनॕ �ऺॊ�रत करतॊ ऻॖ। 98.3 MHz  ऺंदोभ�त करतॊ
ऻॖ                                                                                                 

Its frequency 98.3 hundred hertz / उऺकॎ आश◌॑ो� 98.3 ऺग़ ऻट�ज

Its frequency 98.3 thousand hertz / उऺकॎ आश◌॑ो� 98.3 ऻजॊर ऻट�ज

Its frequency 98.3 million hertz / उऺकॎ आश◌॑ो� 98.3 ोमोलयन ऻट�ज

Its frequency 98.3 hertz / उऺकॎ आश◌॑ो� 98.3 ऻट�जIts fƌeƋueŶĐǇ ϵϴ.ϯ heƌtz / उऺकॎ आश◌॑ो� 98.3
ऻट�ज

Correct Answer :­Its frequency 98.3 million hertz / उऺकॎ आश◌॑ो� 98.3 ोमोलयन ऻट�ज 

10)

Question Stimulus :­

Growth hormone is produced in / श॑��कर ऻॊम�न इऺम� उ� पॊोदत ऻख़तॕ ऻ�  

PituitaƌǇ glaŶd / पॎयॐह � ंोथ

AdƌeŶal glaŶd / अोधश◌॑� क �ंोथ

Thyroid  gland / अशटॏ �ंोथ



PaŶĐƌeas / अ�� यॊषय

Correct Answer :­PituitaƌǇ glaŶd / पॎयॐह � ंोथ 

11)

Question Stimulus :­

The thiĐk gƌoǁth of Algae oŶ the ǁateƌ suƌfaĐe is Đalled / पॊनॎ कॎ ऺतऻ पर षॖशॊल कॎ घनॎ फलन कऻलॊतॎ
ऻॖ

Silt / ोऺ� ट

Algal ďlooŵ / षॖशॊल कॊ फलनॊ

LeaĐhiŶg / ोन�ॊलन

Oil sliĐk / ऑयल ��क

Correct Answer :­Algal ďlooŵ / षॖशॊल कॊ फलनॊ 

12)

Question Stimulus :­

The Planet Venus has a very thick atmosphere that contains about 97% / षॏ� �ऻ कॊ शॊतॊशरण ब�त मख़टॊ ऻॖ। ऐऺॊ
इऺोलए �ख़ोंक शऻॊं 97% __________ऺमॊोऻत ऻॖ। 

MethaŶe / मॕथॕन

HǇdƌogeŶ / ऻॊइड� ख़जन

Carbon dioxide /  कॊब�न डॊइऑ�ॊइड

CaƌďoŶ ŵoŶoǆide / कॊब�न मख़नख़ ऑ�ॊइड

Correct Answer :­Carbon dioxide /  कॊब�न डॊइऑ�ॊइड 

13)

Question Stimulus :­

Positively charged particles in a salt solution are called. / नमक कॕ घख़ल म� ऺकॊरॊ�क आशॕोषत कणख़ ंकख़
कऻॊ जॊतॊ ऻॖ।

AŶioŶs / ॠणॊयन

Ca�oŶs / धनॊयन

PƌotoŶs / �ख़टॗन

EleĐtƌoŶs / इलॕ�� ॗन

Correct Answer :­Ca�oŶs / धनॊयन 

14)



Question Stimulus :­

A natural phenomenon wherein a dark funnel shaped cloud reaches the ground from the
sky is / एक �ॊक॑ोतक प�रघटनॊ, ोजऺम� आऺमॊन ऺॕ एक गऻरॊ कॎपदॊर बॊदल, जमॎन पर प�ँच जॊतॊ ऻॖ

Tornado / बशंडर

Cyclone / च�शॊत

Tsunami /  ॐऺनॊमॎ

Earthquake / भॐकंप

Correct Answer :­Tornado / बशंडर 

15)

Question Stimulus :­

When a substance becomes hot, / जब एक पदॊथ� गरम ऻख़ जॊतॊ ऻॖ तब ­  

The kinetic energy of the particles increase / कणख़ ंकॎ गोतज ऊजॊ� बु जॊतॎ ऻॖ।

The kinetic energy of the particles decrease / कणख़ ंकॎ गोतज ऊजॊ� घट जॊतॎ ऻॖ।

The kinetic energy of the particles remains same / कणख़ ंकॎ गोतज ऊजॊ� ऺमॊन रऻतॎ ऻॖ।

Only the potential energy is affected / कॕशल ��थोतज ऊजॊ� पर �भॊश पीतॊ ऻॖ ।

Correct Answer :­The kinetic energy of the particles increase / कणख़ ंकॎ गोतज ऊजॊ� बु जॊतॎ ऻॖ। 

16)

Question Stimulus :­

Mercury is used in thermometers because / थमॊ�मॎटरख़ ंम� पॊरॕ कॊ �यख़ग ोकयॊ जॊतॊ ऻॖ � यख़ोंक

It is a poor conductor of heat / यऻ ऊ� मॊ कॊ कॏ चॊलक ऻॖ

It is a good conductor of heat / यऻ ऊ� मॊ कॊ  ॏऺचॊलक ऻॖ

It is an insulator / यऻ ऊ� मॊरख़धॎ ऻॖ 

It does not conduct electricity at all / यऻ ोब� कॏ ल भॎ ोबजलॎ ऺंचॊोलत नऻॎ ं करतॊ

Correct Answer :­It is a good conductor of heat / यऻ ऊ� मॊ कॊ  ॏऺचॊलक ऻॖ 

17)

Question Stimulus :­

IŶ fƌogs the hatĐhed eggs deǀelop iŶto / म�ढकख़ ंम�, अंडख़ ऺॕ ब� चॕ ोनकलकर        _______ म� ोशकोऺत ऻख़तॕ ऻ�।

EŵďƌǇo / �ॐण

ZǇgote / यॏ� मज

Pupa / � यॐपॊ



Tadpole / टॖडपख़ल

Correct Answer :­Tadpole / टॖडपख़ल 

18)

Question Stimulus :­

The major constituent of C.N.G is  / ऺॎ.एन.जॎ. कॊ मॏ� य ऺंघटक
ऻॖ                                                                                                       

ButaŶe / � यॐटॕन

PƌopaŶe / �ख़पॕन

EthaŶe / एथॕन

Methane / मॕथॕन  

Correct Answer :­Methane / मॕथॕन   

19)

Question Stimulus :­

The number of terminals in an electric cell are / एक ोशद्यॏ त् ऺॕल म� टोम�नलख़ ंकॎ ऺं�ॊ ऻख़तॎ ऻॖ :

1

2

4

3

Correct Answer :­2 

20)

Question Stimulus :­

The most expensive but also the most efficient method of irrigation is / ोऺंचॊई कॊ ऺबऺॕ मऻंगॊ, लॕोकन ऺबऺॕ कॊरगर तरॎकॊ ऻॖ । 

SpƌiŶkleƌ iƌƌiga�oŶ / ोछीकॊश �ॊरॊ ोऺंचॊई

Fuƌƌoǁ iƌƌiga�oŶ / खोतकॊ �ॊरॊ ोऺंचॊई

Dƌip iƌƌiga�oŶ / चॏआश �ॊरॊ ोऺंचॊई

Basin  irrigation / �ख़णॎ �ॊरॊ ोऺंचॊई

Correct Answer :­Dƌip iƌƌiga�oŶ / चॏआश �ॊरॊ ोऺंचॊई 

21)

Question Stimulus :­

The ŶoŶŵetal used iŶ disiŶfeĐ�Ŷg ǁateƌ is / पॊनॎ कॊ ोशऺं�मण रख़कनॕ कॕ ोलए अधॊतॏ कॊ इ�ॕमॊल ऻख़तॊ ऻॖ।



ChloƌiŶe / �ख़रॎन

Bromine / �ख़मॎन

Iodine / आयख़डॎन

Fluorine / �ॏओरॎन

Correct Answer :­ChloƌiŶe / �ख़रॎन 

22)

Question Stimulus :­

Thunder is caused due to./  मॕघगज�न कॊ कॊरण ऻॖ ­

Shock waves created in the atmosphere when clouds of opposite charge meet.  / ोशपरॎत आशॕष कॕ
बॊदलख़ ंकॕ ोमलनॕ कॕ कॊरण शॊतॊशरण म� आघॊत तरंग कॊ बननॊ।     

Huge electric spark between the clouds of opposite charge. / ोशपरॎत आशॕष कॕ बॊदलख़ ंकॕ बॎच उ�
इलॕ��� क �ॊक�

Sudden rapid shaking of the earth’s crust. / धरतॎ कॕ पटल कॊ अचॊनक तॕिॎ ऺॕ ोऻलनॊ

sudden movement of tectonic plates / टॕ�ख़ोनक �ॕटख़ ंम� अचॊनक उ�� �ई गोत

Correct Answer :­Shock waves created in the atmosphere when clouds of opposite charge meet.  /
ोशपरॎत आशॕष कॕ बॊदलख़ ंकॕ ोमलनॕ कॕ कॊरण शॊतॊशरण म� आघॊत तरंग कॊ बननॊ।      

23)

Question Stimulus :­

When you are out in the open and  there is a thunderstorm, you  should / जब आप बॊऻर खॏलॕ म� ऻ� और
शऻॊँ तॐफॊन ऻॖ तख़ आपकख़ चॊोऻए ोक ­

Take shelter under a tree / एक पॕी कॕ नॎचॕ षरण लॕ लख़

Run across a large open field  / एक बीॕ खॏलॕ �ॕ� म� दग़ी लगॊओ

Squat low on the ground / जमॎन पर पॊलथॎ मॊर कर बॖठ जॊओ 

Lie on the ground / जमॎन पर लॕट जॊओ

Correct Answer :­Squat low on the ground / जमॎन पर पॊलथॎ मॊर कर बॖठ जॊओ  

24)

Question Stimulus :­

The instrument used to measure liquid pressure is / तरल दबॊश कख़ मॊपनॕ कॕ ोलए �यख़ग ोकयॊ जॊनॕ शॊलॊ उपकरण ऻॖ। 

MaŶoŵeteƌ / मॖनख़मॎटर

LaĐtoŵeteƌ / दॏ�मॊपॎ

Baƌoŵeteƌ / शॊयॏदॊबमॊपॎ



HǇdƌoŵeteƌ / ऻॊइड� ख़मॎटर

Correct Answer :­MaŶoŵeteƌ / मॖनख़मॎटर 

25)

Question Stimulus :­

The carrier for Dengue virus is / ड�गॐ शॊयरऺ कॊ शॊऻक ऻॖ                                                                            

Feŵale aŶopheles ŵosƋuito / मोऻलॊ एनख़ूॕलॎि म�र

Feŵale Aedes ŵosƋuito / मॊदॊ एडॎज म� छर

HouseflǇ / म� खॎ

RodeŶt / कं॑तक

Correct Answer :­Feŵale Aedes ŵosƋuito / मॊदॊ एडॎज म� छर 

Topic:­ General Hindi
1)

Question Stimulus :­

‘�ॐ ल कॊ शॊोह�कख़�श’: �ोतशॕदन ोन� म� ऺॕ ोकऺकॕ अंतग�त आयॕगॊ?

ोशशरणॊ�क �ोतशॕदन

���गत �ोतशॕदन 

ऺंगठनॊ�क �ोतशॕदन 

उप�यॏ� त कख़ई नऻॎ ं

Correct Answer :­ऺंगठनॊ�क �ोतशॕदन  

2)

Question Stimulus :­

ोन� न म� ऺॕ ोशदॕषॎ ष� द कग़न ऺॊ ऻॖ ?

मऻॊ� मॊ

फकॎर

लकीॎ

लख़टॊ

Correct Answer :­फकॎर 

3)

Question Stimulus :­

ोन� न म� ऺॕ षॏ� शॊ� य कग़न ऺॊ ऻॖ?



मॖनॕजर ऺॊऻब आपकख़ बॏलॊए ऻ�।

मॖनॕजर ऺॊऻब नॕ आपकख़ बॏलॊयॊ ऻॖ।

आपकख़ बॏलॊयॊ ऻॖ मॖनॕजर ऺॊऻब ।

बॏलॊयॊ ऻॖ मॖनॕजर ऺॊऻब नॕ आपकख़।

Correct Answer :­मॖनॕजर ऺॊऻब नॕ आपकख़ बॏलॊयॊ ऻॖ। 

4)

Question Stimulus :­

पॊ�ॊ� कॊ ोशपरॎतॊथ�क ष� ऻॖ

�तॎचॎ

�ॊचॎ

���

पग़शॊ��

Correct Answer :­पग़शॊ�� 

5)

Question Stimulus :­

‘ोकंोकणॎ’ म� उपऺग� ऻॖ­

ोकं

ोकंोक

ोकंक्

ोकन

Correct Answer :­ोकं 

6)

Question Stimulus :­

जॊ�शॎ ,दॕशनदॎ और भॊगॎरथॎ ोकऺ नदॎ कॕ पयॊ�यशॊचॎ ऻ� ?

यमॏनॊ

गंगॊ

ऺतलॏज

कॊशॕरॎ

Correct Answer :­गंगॊ 



7)

Question Stimulus :­

ोन� शॊ�ख़ ंम� ऺॕ ऺंयॏ� शॊ� कग़न ऺॊ ऻॖ ?

शऻ खॊनॊ खॊकर ऺख़ गयॊ

उऺनॕ गॎत गयॊ और ऺख़ गयॊ

रॕखॊ ोजऺ घर म� रऻतॎ ऻॖ ब�त ग�ॊ ऻॖ

रमॊ चॊऻतॎ ऻॖ ोक शऻ नग़करॎ करॕ

Correct Answer :­उऺनॕ गॎत गयॊ और ऺख़ गयॊ 

8)

Question Stimulus :­

ोन� न म� ऺॕ षॏ� शॊ� य कग़न ऺॊ ऻॖ?

म� खॊनॊ खॊकर कॕ ऻॎ ऺख़ऊँगॊ।

म� खॊनॊ खॊकर ऻॎ ऺख़ऊँगॊ।

म� खॊनॊ खॊकर ऻॎ ऺख़एगॊ।

म� खॊनॊ खॊकर कॕ ऻॎ ऺख़एगॊ।

Correct Answer :­म� खॊनॊ खॊकर ऻॎ ऺख़ऊँगॊ। 

9)

Question Stimulus :­

‘ोश�ॖ�’ कॊ ऺंोध ोश�ॕद ऻॖ ­

ोश�+ए�

ोश�+इ�

ोश�+ई�

ोश�+ऐ�

Correct Answer :­ोश�+ऐ� 

10)

Question Stimulus :­

‘गॊल बजॊनॊ’ मॏऻॊशरॕ कॊ अथ� ऻॖ­

ऺजॊ दॕनॊ

मॊरपॎट करनॊ



बकशॊऺ करनॊ

मनख़रंजन करनॊ

Correct Answer :­बकशॊऺ करनॊ 

11)

Question Stimulus :­

ोन� न म� ऺॕ ͚� शॊधॎन͛ ष� द कॊ ोशलख़म छॊँोटए ­

परॊधॎन

परॊतं�

� शतं�

आधॎन

Correct Answer :­परॊधॎन 

12)

Question Stimulus :­

‘�॑ऻॊ’ कॊ पयॊ�यशॊचॎ ऻॖ­

इ�ॊ

पॊ�रतख़ोहक

ई�ॊ�

इठलॊनॊ

Correct Answer :­इ�ॊ 

13)

Question Stimulus :­

‘गरॎब कॕ घर म� गॏणशॊन � य��͛ ोकऺ मॏऻॊशरॕ कॊ अथ� ऻॖ?

चॎटंॎ ंकॕ पर लगनॊ

गॏदड◌़◌ॎ कॊ लॊल

एक आँख ऺॕ दॕखनॊ

नॊम कमॊनॊ

Correct Answer :­गॏदड◌़◌ॎ कॊ लॊल 

14)

Question Stimulus :­



“यऻ पॏ�क अभॎ छपॎ ऻॖ” रॕखॊंोकत ष� �ॊ ऻॖ

ऺं�ॊ

ऺश�नॊम

ोशषॕहण

ऺॊश�नॊोमक ोशषॕहण

Correct Answer :­ऺॊश�नॊोमक ोशषॕहण 

15)

Question Stimulus :­

‘त�नषॎन’ म� ��य ऻॖ­

षॎन

न

ईन

नषॎन

Correct Answer :­नषॎन 

16)

Question Stimulus :­

कग़न ऺॊ ष� ‘आकॊष’ कॊ पयॊ�यशॊचॎ नऻॎ ंऻॖ ­

गगन

जलज

नभ

अ��र�

Correct Answer :­जलज 

17)

Question Stimulus :­

‘मरॊऺॊ’ म� ��य ऻॖ­

आऺॊ

रॊऺॊ

ऺॊ

आ



Correct Answer :­ऺॊ 

18)

Question Stimulus :­

भॊहॊ कॎ ऺबऺॕ छख़टॎ �ोन कख़ �ॊ कऻतॕ ऻ� ?

ष�

शॊ�

पद

शण�

Correct Answer :­शण� 

19)

Question Stimulus :­

ोकऺॎ कॊम म� दॐ ऺरख़ ंऺॕ बुनॕ कॎ इ�ॊ यॊ उ�ख़ग कॕ ोलए एक ष� ­

�धॊ�

ोल�ॊ

यथॊ�म

आकॊं�ॊ

Correct Answer :­�धॊ� 

20)

Question Stimulus :­

ोन� न म� ऺॕ ोकऺकॊ उ� चॊरण � शतं� �प ऺॕ ोकयॊ जॊ ऺकतॊ ऻॖ ?

� शर

� यंजन

आयख़गशॊऻ

उपयॏ�� कख़ई नऻॎ ं

Correct Answer :­� शर 

21)

Question Stimulus :­

“पग़रॊोणक” ष� म� मॐल ष� और ��य कॊ ऺऻॎ ोशक� चॏन�

पग़रॊण + इक



पॐरॊण + इक

पॏरॊण + इक

पॐरॊ + इक

Correct Answer :­पॏरॊण + इक 

22)

Question Stimulus :­

‘जख़ कोठनॊई ऺॕ ोमलॕ’ कॕ ोलए उपयॏ� ष� ऻॖ

दॏग�म

दॏल�भ

अगम

दॏ� कर

Correct Answer :­दॏल�भ 

23)

Question Stimulus :­

इनमॕ ँऺॕ कग़न – ऺॊ शॊ� ोश�यशॊचक शॊ� कॊ उदॊऻरण ऻॖ?

मख़ोऻनॎ अभॎ आई ऻॖ

भगशॊन ऺदॖश �ऺ� रख�

ोकतनॎ  ॏऺंदर त�ॎर ऻॖ

आप कऻॊँ ऺॕ आ रऻॕ ऻॖ ँ

Correct Answer :­ोकतनॎ  ॏऺंदर त�ॎर ऻॖ 

24)

Question Stimulus :­

ोन� न म� ऺॕ षॏ� शॊ� य कग़न ऺॊ ऻॖ ?

शऻ मॕरॎ बॊत कख़ ऻँऺॎ म� टॊल गयॊ।

मॕरॎ बॊत कख़ शऻ ऻँऺॎ म� टॊल गयॊ।

ऻँऺॎ म� टॊल गयॊ शऻ मॕरॎ बॊत कख़।

मॕरॎ बॊत शऻ ऻँऺॎ म� टॊल गयॊ।

Correct Answer :­मॕरॎ बॊत शऻ ऻँऺॎ म� टॊल गयॊ। 

25)



Question Stimulus :­

“गॊंधॎ जॎ कॊ नॊम ोकऺनॕ नऻॎ ं ॏऺनॊ ऻॖ” रचनॊ कॕ आधॊर पर इऺ शॊ� कॊ ऺरल �प �ॊ ऻॖ?

गॊंधॎ जॎ कॊ नॊम ोकऺनॕ  ॏऺनॊ ऻॖ

गॊंधॎ जॎ कॊ नॊम ऺबनॕ  ॏऺनॊ ऻॖ

गॊंधॎ जॎ कॊ नॊम ऺबनॕ नऻॎ ं ॏऺनॊ ऻॖ

गॊंधॎ जॎ कॊ नॊम ऺब  ॏऺनतॕ ऻ�

Correct Answer :­गॊंधॎ जॎ कॊ नॊम ऺबनॕ  ॏऺनॊ ऻॖ 

Topic:­ General Mathematics
1)

Question Stimulus :­

The radius of a right circular cylinder is 6cm. If it is increased by 50%, then its percentage increase in volume
is / एक लंब श॑ो�य बॕलन कॎ ो��ॊ 6 ऺॕमॎ ऻॖ। योद इऺॕ 50% बुॊयॊ जॊतॊ ऻॖ, तब इऺकॕ आयतन म� �ई �ोतषत श॑�� ऻॖ
:

25

100

200

125

Correct Answer :­125 

2)

Question Stimulus :­



Correct Answer :­  

3)

Question Stimulus :­

The mean of 16 numbers is 12. If each number is multiplied by 3, then the new mean is / 16 ऺं�ॊओ ंकॊ मॊ�
12 ऻॖ। योद ��ॕक ऺं�ॊ कख़ 3 ऺॕ गॏणॊ ोकयॊ जॊतॊ ऻॖ, तख़ नयॊ मॊ� ऻॖ

32

28

40

36

Correct Answer :­36 

4)

Question Stimulus :­

Correct Answer :­  

5)

Question Stimulus :­



9 : 55

12 : 53

15 : 43

14 : 27

Correct Answer :­9 : 55 

6)

Question Stimulus :­

Correct Answer :­  

7)

Question Stimulus :­

Find the class mark if the lower limit is 1399.5 and the difference of the lower limit and the upper limit is 100 / शग�
ोच� (� लॊऺ मॊक� ) �ॊत कर� , योद ोन�तम ऺॎमॊ 1399.5 ऻॖ, एशं ोन�तम ऺॎमॊ और उ�तम ऺॎमॊ कॕ बॎच कॊ अंतर 100 ऻॖ।



1459.5

1489.5

1449.5

1469.5

Correct Answer :­1449.5 

8)

Question Stimulus :­

The nth term of an A.P 51, 59, 67, 75__________ is / एक ऺमॊंतर आरख़ऻण 51, 59, 67, 75__________कॊ nशॊँ पद ऻॖ

8n + 25

4n ­ 66

43 + 8n

50 ­ 7n

Correct Answer :­43 + 8n 

9)

Question Stimulus :­

If (x + y) = 4 and xy = 6, then the value of    is / योद (x + y) = 4 और xy = 6, तख़    कॊ मॊन ऻख़गॊ

Correct Answer :­  

10)

Question Stimulus :­

The relation between a , b , c and d, for which the equation 4ax + 3by = c and 3cx + 2dy = a  have a unique
solution, is /   a , b , c  एशं d कॕ बॎच ऺंबंध, ोजऺकॕ ोलए ऺमॎकरण 4ax + 3by = c एशं 3cx + 2dy = a ऻॖ, कॊ अो�तॎय ऻल
यऻ ऻॖ:



3ca = 4bd

3bc = 4ad

Correct Answer :­  

11)

Question Stimulus :­

0

­5

1

Correct Answer :­0 

12)

Question Stimulus :­

Which of the following is a mixed recurring decimal? / ोन�ोल�खत म� ऺॕ कग़न एक ोमो�त आशत� दषमलम ऻॖ?

Correct Answer :­  

13)

Question Stimulus :­

The probability that a new car getting an award for its design is thrice the probability of not getting an award,
then the probability of getting an award is / एक नई गॊीॎ कख़ उऺकॕ ोडिॊइन कॕ ोलए पॏर�ॊर ोमलनॕ कॎ
�ॊोयकतॊ, पॏर�ॊर न ोमलनॕ कॎ �ॊोयकतॊ ऺॕ तॎन गॏनॎ ऻॖ, अत: पॏर�ॊर ोमलनॕ कॎ �ॊोयकतॊ ऻॖ



Correct Answer :­  

14)

Question Stimulus :­

1 , ­2

2 , 1

3 , 2

1 , 3

Correct Answer :­3 , 2 

15)

Question Stimulus :­

There are 25 paise coins and 50 paise coins in a box. In all there are 30 coins worth Rs 10. Find the number of
25 paise coins. / एक ब�ॕ म� 25 पॖऺॕ कॕ ोऺ�ॕ और 50 पॖऺॕ कॕ ोऺ�ॕ ऻ�। कॏ ल 10 � कॎमत कॕ  मॐ� कॕ बरॊबर 30
ोऺ�ॕ ऻ�। 25 पॖऺॕ कॕ ोऺ�ख़ ंकॎ ऺं�ॊ ोनकॊोलए।

10

20

15

12

Correct Answer :­20 

16)



Question Stimulus :­

4 dice are thrown simultaneously. The probability of getting the same number in all the dice is / 4 पॊंऺॕ एक ऺॊथ
फ� कॕ गयॕ। ऺभॎ पॊंऺख़ ंम� ऺमॊन ऺं�ॊ आनॕ कॎ �ॊोयकतॊ ऻॖ

Correct Answer :­  

17)

Question Stimulus :­

Mother is 15 years older than her son. The product of their ages 4 years hence is 450. Mother's present age is /
मॊतॊ अपनॕ पॏ� ऺॕ 15 शह� बीॎ ऻॖ। 4 शह� कॕ बॊद मॊतॊ और पॏ� कॎ उ� कॊ गॏणनफल 450 ऻख़तॊ ऻॖ। मॊतॊ कॎ शत�मॊन
उ� ऻॖ:

30 years / 30 शह�

26 years / 26 शह�

34 years / 34 शह�

42 years / 42 शह�

Correct Answer :­26 years / 26 शह� 

18)

Question Stimulus :­



Correct Answer :­  

19)

Question Stimulus :­



1 : 2

1 : 1

3 : 1

2 : 3

Correct Answer :­1 : 1 

20)

Question Stimulus :­

0

256

Correct Answer :­0 

21)

Question Stimulus :­

Correct Answer :­  

22)

Question Stimulus :­



If the height of the cone is thrice the radius of the cone, then its slant height in terms of the radius is / योद एक
षंकॏ  कॎ ऊँचॊई, षंकॏ  कॕ ो��ॊ कॎ ोतगॏनॎ ऻॖ, तब इऺकॎ ो��ॊ कॕ अनॏऺॊर इऺकॎ ोतरछॎ ऊँचॊई ऻॖ:

Correct Answer :­  

23)

Question Stimulus :­

ABCD is a parallelogram in which ‘E’ is the midpoint of DC and ‘G’ is the point on AC. Also EG when
produced meet BC at ‘F’ which is the midpoint of BC. If AC = 12cm then CG = / ABCD एक ऺमॊंतर चतॏभॏ�ज ऻॖ
ोजऺम� ‘E’, DC कॎ म� ोबंदॏ ऻॖ और ‘G’, AC पर ोबंदॏ ऻॖ। और EG कख़ जब बुॊयॊ जॊतॊ ऻॖ तख़ शऻ BC कख़ ‘F’ पर
ोमलतॎ ऻॖ जख़ BC कॊ म� ोबंदॏ ऻॖ। योद AC = 12ऺॕमॎ ऻॖ तख़ CG =

4cm

3cm

6cm

2cm

Correct Answer :­3cm 

24)

Question Stimulus :­

How many cubes of side 4cm are required to build a cube of side 12cm? / एक 12 ऺॕमॎ. भॏजॊ शॊलॕ घन कॕ ोनमॊ�ण
म� 4 ऺॕमॎ. भॏजॊ शॊलॕ ोकतनॕ घन कॎ आश�कतॊ ऻख़गॎ?

32

29

27

34

Correct Answer :­27 

25)

Question Stimulus :­



A bucket of height 6cm is in the form of frustum of a right circular cone with radii of its lower and upper ends as
4cm and 16cm respectively. Then the height of the cone, of which the bucket is a part, is /  लंब श॑� तॎय षंकॏ  कॕ
�ंभ�थॐण कॕ �प म�, 6 ऺॕमॎ ऊँचॊई शॊलॎ एक बॊ�ॎ, ोजऺकॕ ोनचलॕ  एशं ऊपरॎ ोऺरॕ कॎ ो��ॊ �मष: 4 ऺॕमॎ एशं 16 ऺॕमॎ ऻॖ।
अत: उऺ षंकॏ  कॎ ऊँचॊई बतॊएं, ोजऺकॊ एक ोऻ�ॊ बॊ�ॎ ऻॖ ­

12cm / 12 ऺॕमॎ.

10cm / 10 ऺॕमॎ.

8cm / 8 ऺॕमॎ.

14cm / 14 ऺॕमॎ.

Correct Answer :­8cm / 8 ऺॕमॎ. 

Topic:­ General English
1)

Question Stimulus :­

Read the sentence carefully and choose the option that has an error in it: 

We had to work in high pressure to meet the deadline.

We had to work

in high pressure

to meet the deadline.

No error

Correct Answer :­in high pressure 

2)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly: 

The colleagues don’t appear nice. I like the office, ________.

besides

indeed

though

but

Correct Answer :­though 

3)

Question Stimulus :­

Choose the correct form of verb that is in agreement with the subject:

My friend and I _________ invited to the party.



is being

has been

have been

was

Correct Answer :­have been 

4)

Question Stimulus :­

Read the sentence carefully and choose the option that has an error in it: 

The accountant stole thousands of dollar by juggling the company's books.

The accountant stole

thousands of dollar

by juggling

the company's books.

Correct Answer :­thousands of dollar 

5)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly: 

A good way ________ combat the annual floods ________ Bihar is to build houses ________ an elevation.

at, into, on

to, in, at

on, for, through

for, of, for

Correct Answer :­to, in, at 

6)

Question Stimulus :­

Choose the option that best punctuates the given sentence: 

It was william james who said might is right

It was William James, who said; “Might is right.”

It was William James who said, “Might is right.”

It was william James who said ­ “Might is right.”

It was William James who said; Might is right.”



Correct Answer :­It was William James who said, “Might is right.” 

7)

Question Stimulus :­

Complete the sentence choosing the right form of Prefix:

‘Because of the passive nature of the viewer, the ____vison is rightly called ‘the idiot box'.

tele

mini

auto

pre

Correct Answer :­tele 

8)

Question Stimulus :­

Choose the option that best fills in to complete the given sentence:: 

I __________ an exam for two years.

hasn’t made

haven’t taken

hasn’t took

haven’t took

Correct Answer :­haven’t taken 

9)

Question Stimulus :­

Choose the option that best transforms the sentence into its Direct / Indirect form: 

Can the children get tasty meals at school?

I asked if the children can be getting tasty meals at school.

I asked if the children could get tasty meals at school?

I asked if the children can they get tasty meals at school?

I asked if the children could get tasty meals at school.

Correct Answer :­I asked if the children could get tasty meals at school. 

10)

Question Stimulus :­

Choose the option that best transforms the sentence into its Direct / Indirect form: 



‘What country do you come from?’ said the police officer.

The police officer asked me from what country I came from.

The police officer asked what country I came from.

The police officer wanted to know what country I am coming from.

The police officer asked me what country did I came from.

Correct Answer :­The police officer asked what country I came from. 

11)

Question Stimulus :­

Choose the option that best transforms the sentence into its other voice: 

The clerk finally found the files under the filing cabinet.

The files were found by the filing cabinet, finally.

Finally, the files were found under the filing cabinet by the clerk.

Finally, the files had been found under the filing cabinet by the clerk.

The files were finally being found under the filing cabinet by the clerk.

Correct Answer :­Finally, the files were found under the filing cabinet by the clerk. 

12)

Question Stimulus :­

Choose the option that best transforms the given sentence without changing its meaning: 

‘Oh, do you think you could call me about this next month?’

You could call me about this next month, could you?

Don’t think you could call me about this next month.

Do you think you will call me about this next month?’

Could you please telephone me about this next month?

Correct Answer :­Could you please telephone me about this next month? 

13)

Question Stimulus :­

Choose the option that best fills in to complete the given sentence:: 

He ___________ here from 1955 to 1960.

worked

is working

has been worked



works

Correct Answer :­worked 

14)

Question Stimulus :­

Choose the option that best transforms the given sentence without changing its meaning: 

As soon as the security guard saw the thief he swung into action.

No sooner had the security guard seen the thief when he swung into action.

No sooner did the security guard see the thief then he swung into action.

No sooner did the security guard see the thief than he swung into action.

No sooner had the security guard seen the thief, he swung into action.

Correct Answer :­No sooner did the security guard see the thief than he swung into action. 

15)

Question Stimulus :­

Choose the option that best punctuates the given sentence: 

A few years ago thirty nine people witnessed a brutal attack

A few years ago, thirty nine people witnessed, a brutal attack.

A few years ago, thirty­nine people witnessed a brutal attack.

A few years ago thirty­nine people, witnessed a brutal attack.

A few, years ago, thirty nine people witnessed ­ a brutal attack!

Correct Answer :­A few years ago, thirty­nine people witnessed a brutal attack. 

16)

Question Stimulus :­

Choose the option that is closest in meaning to the highlighted word in the given sentence:

Many states try to bar interstate shipments of hazardous wastes.

control

certify

make illegal

prevent

Correct Answer :­prevent 

17)

Question Stimulus :­



Choose the appropriate option that fills in the given sentence correctly: 

This house is not strategically located; ________, the rents are quite high.

accordingly

likewise

furthermore

hence

Correct Answer :­furthermore 

18)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly: 

A greenhouse is used ________ rearing plants ________ controlled conditions.

for, under

in, over

into, for

for, at

Correct Answer :­for, under 

19)

Question Stimulus :­

Choose the most suitable determiner for the given sentence:

I don’t wear _____ new trousers to office.

this

these

that

few

Correct Answer :­these 

20)

Question Stimulus :­

Choose the option that best transforms the sentence into its other voice: 

No one plays football seriously in our campus.

In our campus, football is not played seriously.

In our campus, football is played not seriously by no one.



Football is not played in our campus by anyone.

In our campus, seriously football is not being played.

Correct Answer :­In our campus, football is not played seriously. 

Topic:­ RC_General English
1)

Question Stimulus :­

Read the following passage and answer the question given below:

Goldfish are sweet little things, swimming about decoratively in their bowls as they do, happily minding their own
business. Not that they have a lot of business to mind. Scientists tell us that our goldfish friends have three­second
memories.

This may explain why they don’t live longer. Imagine how exhausting it must be making fresh discoveries all the
time. After each circuit of their cozy little bowl, they are struck by the thought: “My goodness, this is all new!”

Then, imagine if there are other fish sharing the bowl. They must become worn out by the constant need for
introductions.

“Hello, I’m Sophie.”

“Hi, I’m Neil.”

Three seconds later.

“Hello, I’m Sophie.”

“Hi, I’m Neil.”

Boxfish, it turns out, aren’t much brainier. Recently, one of these square, spotted fish at an oceanarium became
lonely, so officials dropped a dice into the tank, hoping she might be drawn to it. Apparently it did the trick and
the two have become inseparable. Dottie, we are told, won’t leave the dice alone.

Well, it sounds a nice enough story, but Dottie has a great disservice to male boxfish everywhere. Frankly, what’s
the point of their making any efforts? All those years of working on their swimming technique and making sure
their dots looked their best were totally wasted. It turns out that the female boxfish will settle for anything square
with a few dots.

I wonder whether Dottie’s keepers roll a new number everyday just to keep things fresh. I do hope so.

Which is another species of fish that are not very intelligent?

Crayfish

Salmon

Boxfish

Jellyfish

Correct Answer :­Boxfish 

2)

Question Stimulus :­

Read the following passage and answer the question given below:



Goldfish are sweet little things, swimming about decoratively in their bowls as they do, happily minding their own
business. Not that they have a lot of business to mind. Scientists tell us that our goldfish friends have three­second
memories.

This may explain why they don’t live longer. Imagine how exhausting it must be making fresh discoveries all the
time. After each circuit of their cozy little bowl, they are struck by the thought: “My goodness, this is all new!”

Then, imagine if there are other fish sharing the bowl. They must become worn out by the constant need for
introductions.

“Hello, I’m Sophie.”

“Hi, I’m Neil.”

Three seconds later.

“Hello, I’m Sophie.”

“Hi, I’m Neil.”

Boxfish, it turns out, aren’t much brainier. Recently, one of these square, spotted fish at an oceanarium became
lonely, so officials dropped a dice into the tank, hoping she might be drawn to it. Apparently it did the trick and
the two have become inseparable. Dottie, we are told, won’t leave the dice alone.

Well, it sounds a nice enough story, but Dottie has a great disservice to male boxfish everywhere. Frankly, what’s
the point of their making any efforts? All those years of working on their swimming technique and making sure
their dots looked their best were totally wasted. It turns out that the female boxfish will settle for anything square
with a few dots.

I wonder whether Dottie’s keepers roll a new number everyday just to keep things fresh. I do hope so.

What attracted the boxfish into the oceanarium?

A wood

Another boxfish

A dice

A pebble

Correct Answer :­A dice 

3)

Question Stimulus :­

Read the following passage and answer the question given below:

Goldfish are sweet little things, swimming about decoratively in their bowls as they do, happily minding their own
business. Not that they have a lot of business to mind. Scientists tell us that our goldfish friends have three­second
memories.

This may explain why they don’t live longer. Imagine how exhausting it must be making fresh discoveries all the
time. After each circuit of their cozy little bowl, they are struck by the thought: “My goodness, this is all new!”

Then, imagine if there are other fish sharing the bowl. They must become worn out by the constant need for
introductions.

“Hello, I’m Sophie.”

“Hi, I’m Neil.”

Three seconds later.



“Hello, I’m Sophie.”

“Hi, I’m Neil.”

Boxfish, it turns out, aren’t much brainier. Recently, one of these square, spotted fish at an oceanarium became
lonely, so officials dropped a dice into the tank, hoping she might be drawn to it. Apparently it did the trick and
the two have become inseparable. Dottie, we are told, won’t leave the dice alone.

Well, it sounds a nice enough story, but Dottie has a great disservice to male boxfish everywhere. Frankly, what’s
the point of their making any efforts? All those years of working on their swimming technique and making sure
their dots looked their best were totally wasted. It turns out that the female boxfish will settle for anything square
with a few dots.

I wonder whether Dottie’s keepers roll a new number everyday just to keep things fresh. I do hope so.

What is the period of memory of a goldfish?

2 sec

1 minute

5 sec

3 sec

Correct Answer :­3 sec 

4)

Question Stimulus :­

Read the following passage and answer the question given below:

Goldfish are sweet little things, swimming about decoratively in their bowls as they do, happily minding their own
business. Not that they have a lot of business to mind. Scientists tell us that our goldfish friends have three­second
memories.

This may explain why they don’t live longer. Imagine how exhausting it must be making fresh discoveries all the
time. After each circuit of their cozy little bowl, they are struck by the thought: “My goodness, this is all new!”

Then, imagine if there are other fish sharing the bowl. They must become worn out by the constant need for
introductions.

“Hello, I’m Sophie.”

“Hi, I’m Neil.”

Three seconds later.

“Hello, I’m Sophie.”

“Hi, I’m Neil.”

Boxfish, it turns out, aren’t much brainier. Recently, one of these square, spotted fish at an oceanarium became
lonely, so officials dropped a dice into the tank, hoping she might be drawn to it. Apparently it did the trick and
the two have become inseparable. Dottie, we are told, won’t leave the dice alone.

Well, it sounds a nice enough story, but Dottie has a great disservice to male boxfish everywhere. Frankly, what’s
the point of their making any efforts? All those years of working on their swimming technique and making sure
their dots looked their best were totally wasted. It turns out that the female boxfish will settle for anything square
with a few dots.

I wonder whether Dottie’s keepers roll a new number everyday just to keep things fresh. I do hope so.



What are female boxfish attracted to?

Other boxfish

Anything that is square and has dots

Anything with dots

Anything square and colourful

Correct Answer :­Anything that is square and has dots 

5)

Question Stimulus :­

Read the following passage and answer the question given below:

Goldfish are sweet little things, swimming about decoratively in their bowls as they do, happily minding their own
business. Not that they have a lot of business to mind. Scientists tell us that our goldfish friends have three­second
memories.

This may explain why they don’t live longer. Imagine how exhausting it must be making fresh discoveries all the
time. After each circuit of their cozy little bowl, they are struck by the thought: “My goodness, this is all new!”

Then, imagine if there are other fish sharing the bowl. They must become worn out by the constant need for
introductions.

“Hello, I’m Sophie.”

“Hi, I’m Neil.”

Three seconds later.

“Hello, I’m Sophie.”

“Hi, I’m Neil.”

Boxfish, it turns out, aren’t much brainier. Recently, one of these square, spotted fish at an oceanarium became
lonely, so officials dropped a dice into the tank, hoping she might be drawn to it. Apparently it did the trick and
the two have become inseparable. Dottie, we are told, won’t leave the dice alone.

Well, it sounds a nice enough story, but Dottie has a great disservice to male boxfish everywhere. Frankly, what’s
the point of their making any efforts? All those years of working on their swimming technique and making sure
their dots looked their best were totally wasted. It turns out that the female boxfish will settle for anything square
with a few dots.

I wonder whether Dottie’s keepers roll a new number everyday just to keep things fresh. I do hope so.

Which element is affected by short memory?

Brain

Activity

Longevity

Sight

Correct Answer :­Longevity 

Topic:­ General Knowledge
1)



Question Stimulus :­

Tomb of Tansen is located in_______./ तॊनऺॕन कॕ मक़बरॊ________ म� ��थत ऻॖ।

Gwalior / �ॊोलयर

Indore / इंदग़र

Ujjain / उ�ॖन

Morena / मॏरॖनॊ

Correct Answer :­Gwalior / �ॊोलयर 

2)

Question Stimulus :­

Who designed the new symbol for our Indian rupee? / ऻमॊरॕ भॊरतॎय �पए कॕ ोलए नयॊ �तॎक ोकऺनॕ ोडिॊइन
ोकयॊ ऻॖ?

Varun Kumar / श�ण कॏ मॊर

Udaya Kumar Dharmalingam / उदय कॏ मॊर धम�ोलंगम

Anand Kumar Dharmesh / आनंद कॏ मॊर धम�ष

Ravi Kumar Dada / रोश कॏ मॊर दॊदॊ

Correct Answer :­Udaya Kumar Dharmalingam / उदय कॏ मॊर धम�ोलंगम 

3)

Question Stimulus :­

______ is bordered by Haryana on three sides and by Uttar Pradesh to the east. / ______कॎ ऺॎमॊ तॎन ओर ऺॕ
ऻ�रयॊणॊ एशं पॐश� म� उ�र �दॕष ऺॕ लगॎ ऻॖ।

Rajasthan / रॊज�थॊन

Delhi / ोद�ॎ

Punjab / पंजॊब

Uttarakhand / उ�रॊखंड

Correct Answer :­Delhi / ोद�ॎ 

4)

Question Stimulus :­

The only woman Chief Minister of Madhya Pradesh so far is __________. / म��दॕष कॎ अब तक कॎ एकमॊ�
मोऻलॊ मॏ�मं�ॎ __________ ऻ�।

Janaki Ramachandran / जॊनकॎ रॊमॊचं�न

Uma Bharti / उमॊ भॊरतॎ



Mamata Banerjee / ममतॊ बनज�

Sushma Swaraj /  ॏऺहमॊ �रॊज

Correct Answer :­Uma Bharti / उमॊ भॊरतॎ 

5)

Question Stimulus :­

________ is the state fruit of Madhya Pradesh. / _______ म��दॕष कॊ रॊजकॎय फल ऻॖ।

Papaya / पपॎतॊ

Mango / आम

Guava / अम�द

Banana / कॕलॊ

Correct Answer :­Mango / आम 

6)

Question Stimulus :­

The Central Institute of Agricultural Engineering is situated in __________. / कॕ�ॎय क॑ोह अोभयॊंो�कॎ ऺं�थॊन
__________ म� ��थत ऻॖ।

Indore / इंदग़र

Bhopal / भख़पॊल

Jabalpur / जबलपॏर

Rewa / रॎशॊ

Correct Answer :­Bhopal / भख़पॊल 

7)

Question Stimulus :­

Amartya Kumar Sen is a Bengali ________. / अम�� कॏ मॊर ऺॕन एक बंगॊलॎ _________ ऻ�।

Zoologist / जॎश ोश�ॊनॎ

Economist /  अथ�षॊ�ॎ

Biologist / जॎशोश�ॊनॎ

Physicist / भग़ोतक ोश�ॊनॎ

Correct Answer :­Economist /  अथ�षॊ�ॎ 

8)

Question Stimulus :­



__________ is the only Sindhi newspaper in Madhya Pradesh. / म��दॕष म� एकमॊ� ोऺंधॎ ऺमॊचॊर प� ________
ऻॖ।

Farz / फि�

Alakh / अलख

Ibrat / इबरत

Safeer / ऺूॎर

Correct Answer :­Farz / फि� 

9)

Question Stimulus :­

_________ is the first Indian bowler to take a hat trick in Test cricket. / टॕ� ो�कॕट म� ऻॖोट�क लॕनॕ शॊलॕ �थम
भॊरतॎय ग�दबॊज ________ ऻ�।

Harbhajan Singh / ऻरभजन ोऺंऻ

Anil Kumble / अोनल कॏं बलॕ

Asish Nehra / आषॎह नॕऻरॊ

Zaheer Khan / िऻॎर खॊन

Correct Answer :­Harbhajan Singh / ऻरभजन ोऺंऻ 

10)

Question Stimulus :­

The national animal of India is the / भॊरत कॊ रॊ�� ॎय पषॏ ऻॖ ।

Tigeƌ / बॊघ

LioŶ / षॕर

ElephaŶt / ऻॊथॎ

NoŶe of these / इनमॕ ऺॕ कख़ई नऻॎ ं

Correct Answer :­Tigeƌ / बॊघ 

11)

Question Stimulus :­

National motto of India “Satyameva jayate” means ___________. / भॊरत कॕ �ॕयशॊ� "ऺ�मॕश जयतॕ" कॊ अथ� ऻॖ,
___________

God’s own country / भगशॊन कॊ अपनॊ दॕष

Heart of India / भॊरत कॊ �दय

Truth alone triumphs / ऺ� कॎ ऻॎ जॎत ऻख़तॎ ऻॖ



A new experience / एक नयॊ अनॏभश

Correct Answer :­Truth alone triumphs / ऺ� कॎ ऻॎ जॎत ऻख़तॎ ऻॖ 

12)

Question Stimulus :­

_______________ has the highest literacy rate as per 2011 census. / 2011 कॎ जनगणनॊ कॕ अनॏऺॊर _____________
कॎ ऺॊ�रतॊ दर उ�तम ऻॖ।

Karnataka / कनॊ�टक

Tamil Nadu / तोमलनॊडॏ

Telangana / तॕलंगॊनॊ

Kerala / कॕरल

Correct Answer :­Kerala / कॕरल 

13)

Question Stimulus :­

__________ is the first Indian Badminton player to win an Olympic silver medal. / ओलंोपक म� रजत पदक जॎतनॕ
शॊलॎ पऻलॎ भॊरतॎय बॖडोमंटन �खलॊीॎ __________ ऻ�।

Jwala Gutta / �ॊलॊ गॏ�ॊ

Ashwini Ponnappa / अो�नॎ पख़न�ॊ

P.V. Sindhu / पॎ. शॎ. ोऺ�ॏ

Saina Nehwal / ऺॊइनॊ नॕऻशॊल

Correct Answer :­P.V. Sindhu / पॎ. शॎ. ोऺ�ॏ 

14)

Question Stimulus :­

___________ is the world’s largest tea growing region. / ोश� कॊ ऺशॊ�ोधक चॊय उ�ॊदक �ॕ� ________ ऻॖ।

Nagaland / नॊगॊल�ड

Assam / अऺम

Mizoram / ोमिख़रम

Arunachal Pradesh / अ�णॊचल रॊ�

Correct Answer :­Assam / अऺम 

15)

Question Stimulus :­



Which is the smallest continent? / ऺबऺॕ छख़टॊ मऻॊ�ॎप कग़न ऻॖ?

Australia / ऑ��ॕोलयॊ

Asia / एोषयॊ

Europe / यॐरख़प

Africa / अ�ॎकॊ

Correct Answer :­Australia / ऑ��ॕोलयॊ 

16)

Question Stimulus :­

The famous Bagh Caves are situated in ______ district of Madhya Pradesh / �ोऺ� बॊघ गॏफॊएँ, म� �दॕष कॕ ______
ोजलॕ म� ��थत ऻ�।

Satna / ऺतनॊ

Dhar / धॊर

Bhopal / भख़पॊल

Gwalior / �ॊोलयर

Correct Answer :­Dhar / धॊर 

17)

Question Stimulus :­

Nehru stadium is located in _________. / नॕऻ� �ॕोडयम _________ म� ��थत ऻॖ।

Gwalior / �ॊोलयर

Bhopal / भख़पॊल

Jabalpur / जबलपॏर

Indore / इंदग़र

Correct Answer :­Indore / इंदग़र 

18)

Question Stimulus :­

Which of the rivers of Madhya Pradesh is Bargi Dam situated on? / म� �दॕष कॎ ोकऺ नदॎ पर बरगॎ
बॊंध ��थत ऻॖ?

Narmada / नम�दॊ

Chambal / चंबल

Tapti / तॊ�ॎ



Betwa / बॕतशॊ

Correct Answer :­Narmada / नम�दॊ 

19)

Question Stimulus :­

 _____________has  successfully launched pulsar navigation satellite XPNAV­1. / _________ नॕ प� ऺ र नॕोशगॕषन
ऺॖटॕलॊइट XPNAV­1 कख़ ऺफलतॊपॐश�क लॗंच ोकयॊ ऻॖ?

India / भॊरत

China / चॎन

USA / ऺंयॏ� त रॊ� य अमॕ�रकॊ

Japan / जॊपॊन

Correct Answer :­China / चॎन 

20)

Question Stimulus :­

First Indian Badminton player to have won an Olympic medal is _________. / ओलंोपक पदक ोजतनॕशॊलॊ �थम
भॊरतॎय बॖडोमंटन �खलॊीॎ _________ ऻ�।

Jwala Gutta / �ॊलॊ गॏ�ॊ

Ashwini Ponnappa / अो�नॎ पख़न�ॊ

P.V. Sindhu / पॎ. शॎ. ोऺ�ॏ

Saina Nehwal / ऺॊइनॊ नॕऻशॊल

Correct Answer :­Saina Nehwal / ऺॊइनॊ नॕऻशॊल 

21)

Question Stimulus :­

State Bank of India has celebrated _____________ years of its operations in Sri Lanka. / भॊरतॎय � टॕट ब�क नॕ �ॎलंकॊ
म� अपनॎ ऺॕशॊओ ंकॕ ___________  शह� मनॊए ऻ�।

160

170

150

175

Correct Answer :­150 

22)

Question Stimulus :­



Which one of these National parks is not in Madhya Pradesh? / इन रॊ�� ॎय उ�ॊनख़ ंम� ऺॕ कग़न ऺॊ, म��दॕष म� नऻॎ ं
ऻॖ?

Kanha National Park / कॊ�ॊ रॊ�� ॎय उ�ॊन

Guindy National Park / ोगंडॎ रॊ�� ॎय उ�ॊन

Satpura National Park / ऺतपॏरॊ रॊ�� ॎय उ�ॊन

Sanjay National Park / ऺंजय रॊ�� ॎय उ�ॊन

Correct Answer :­Guindy National Park / ोगंडॎ रॊ�� ॎय उ�ॊन 

23)

Question Stimulus :­

India defeated which country to win the 2016 Kabaddi World Cup? / भॊरतॎय कब�ॎ टॎम नॕ 2016 कॊ कब�ॎ
ोश� श कप जॎतनॕ कॕ ोलए फॊइनल म� ोकऺ दॕष कॎ टॎम कख़ ऻरॊयॊ?

Iran / ईरॊन

Australia  / ऑ� ट� ॕ ोलयॊ

Thailand  / थॊईल�ड

South Korea / दो�ण कख़�रयॊ

Correct Answer :­Iran / ईरॊन 

24)

Question Stimulus :­

The Indian Men's Hockey team defeated which country to win the  2016 Asian Men’s Hockey Champions Trophy? /
भॊरतॎय पॏ�ह ऻॗकॎ टॎम नॕ 2016 कॕ एोषयॊई पॏ�ह ऻॗकॎ चॖ��य� ऺ  ट� ॗफॎ कॕ फॊइनल म� ोकऺ दॕष कॎ टॎम कख़ ऻरॊकर
चॖ��यनोषप जॎतॎ?

Pakistan / पॊोक� तॊन

Japan / जॊपॊन

China / चॎन

South Korea / दो�ण कख़�रयॊ

Correct Answer :­Pakistan / पॊोक� तॊन 

25)

Question Stimulus :­

___________ is the longest Himalayan Glacier. / ोऻमॊलय कॊ ऺबऺॕ लंबॊ �ॕोषयर ___________ ऻॖ।

Machoi / मचख़ई

Nubra / नॏ�ॊ



Siachen / ोऺयॊोचन

Rimo / �रमख़

Correct Answer :­Siachen / ोऺयॊोचन 

Topic:­ General Computer Knowledge
1)

Question Stimulus :­

IŶ MS PoǁeƌPoiŶt ;ǀeƌ. ϮϬϬϳ oŶǁaƌdsͿ, What is the use of ReheaƌsiŶg TiŵiŶgs? / MS PoǁeƌPoiŶt (शि�न
2007 तथॊ इऺऺॕ आगॕ शॊलॕ ) म�, �रऺोच�ग टॊइोमं� ऺ  कॊ � यॊ उपयख़ग ऻख़तॊ ऻॖ?

This op�oŶ alloǁs Ǉou to ƌeaƌƌaŶge slides / यऻ ोशक� प आपकख़ � लॊइड्ऺ कख़ �रअर�ज करनॕ कॎ
ॏऺोशधॊ दॕतॊ ऻॖ

This op�oŶ alloǁs Ǉou to set the �ŵe of aŶiŵa�oŶs / यऻ ोशक� प आपकख़ एोनमॕषंऺ कॕ ोलए ऺमय
ऺॕट करनॕ कॎ  ॏऺोशधॊ दॕतॊ ऻॖ

This op�oŶ alloǁs Ǉou to ƌeheaƌse the slide pƌeseŶta�oŶ / यऻ ोशक� प आपकख़ � लॊइड �ि�टॕषन कॕ ोलए
�रऻ �ऺल करनॕ कॎ  ॏऺ ोशधॊ दॕतॊ ऻॖ

Theƌe is Ŷo suĐh op�oŶ iŶ PoǁeƌPoiŶt / पॗशर� शॊइंट म� ऐऺॊ कख़ई ोशक� प नऻॎ ंऻख़तॊ ऻॖ

Correct Answer :­This op�oŶ alloǁs Ǉou to set the �ŵe of aŶiŵa�oŶs / यऻ ोशक� प आपकख़ एोनमॕषंऺ कॕ
ोलए ऺमय ऺॕट करनॕ कॎ  ॏऺोशधॊ दॕतॊ ऻॖ 

2)

Question Stimulus :­

IŶ LiŶuǆ, ǁhat sigŶ is used to ďaĐk up oǀeƌ tǇpiŶg eƌƌoƌs iŶ ǀi? / ोलन� ऺ  म�, ǀi म� टॊइोपंग कॎ �ॏोटयख़ ंकॕ बॖक
अप कॕ ोलए ोकऺ ऺंकॕत कॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ?

!

$

#

@

Correct Answer :­# 

3)

Question Stimulus :­

WhiĐh of the folloǁiŶg is ĐoƌƌeĐt to ĐhaŶge foŶt faĐe iŶ Weď Page? / शॕब पॕज म� फॗ� ट फॕऺ बदलनॕ कॕ ऺंदभ�
म� ोन� न म� ऺॕ कग़न ऺॊ ोशक� प ऺऻॎ ऻॖ?

<foŶt = ͞foŶt Ŷaŵe͟> … </foŶt>

<foŶt Ŷaŵe = ͞foŶt Ŷaŵe͟> … </foŶt>

<foŶt faĐe = ͞foŶt Ŷaŵe͟> … </foŶt>

FoŶt FaĐe ĐaŶŶot ďe ĐhaŶged  /  फॗ� ट फॕऺ बदलॊ नऻॎ ंजॊ ऺकतॊ ऻॖ



FoŶt FaĐe ĐaŶŶot ďe ĐhaŶged  /  फॗ� ट फॕऺ बदलॊ नऻॎ ंजॊ ऺकतॊ ऻॖ

Correct Answer :­<foŶt faĐe = ͞foŶt Ŷaŵe͟> … </foŶt> 

4)

Question Stimulus :­

An application that runs on a personal computer or workstation, which enables you to send, receive or
organize email is called a _____________ / शऻ ए� लॎकॕषन जख़ प �ऺनल क� � यॐटर यॊ शक� � टॕ� न पर रन करतॊ
ऻॖ, तथॊ जख़ आपकख़ ईमॕल भॕजनॕ, �ॊ� त करनॕ यॊ ऺंगोठत करनॕ कॎ  ॏऺोशधॊ �दॊन करतॊ ऻॖ, कऻलॊतॊ ऻॖ ­

Web browser / शॕब �ॊउि

Email Server / ईमॕल ऺश�र

Email Client / ईमॕल � लॊइंट

All of the above / उपरख़� त ऺभॎ

Correct Answer :­Email Client / ईमॕल � लॊइंट 

5)

Question Stimulus :­

In Windows, an entire path name, consisting of several sub‐directory names can contain upto
__________. / ोशंडख़ि म�, अनॕक ऺब­डॊइरॕ� टरॎ नॕ� ऺ  ऺॕ बनॕ �ए पॐरॕ पॊथ नॊम म� ोकतनॕ कॖरॕ� टर (अ�र) ऻख़
ऺकतॕ ऻ�?

13 character / 13 कॖरॕ�र

36 character / 36 कॖरॕ�

63 character / 63 कॖरॕ�र

53 character / 53 कॖरॕ�र

Correct Answer :­63 character / 63 कॖरॕ�र 

6)

Question Stimulus :­

The strategy of allowing processes that are logically runnable to be temporarily suspended is called
___. / उन �ो�यॊओ ंकख़ अनॏमोत �दॊन करनॕ कॎ रणनॎोत जख़ ोक तॊोक� क �प ऺॕ रन करनॕ यख़� य ऻ� लॕोकन
अ� थॊई �प ऺॕ ोनलंोबत ऻ�, कऻलॊतॎ ऻॖ ­

pƌeeŵp�ǀe sĐheduliŶg / �ॎइ� पोटश ोऺ �ॐोलंग (�र��पॐश� अनॏ ॐऺचन)

ŶoŶ pƌeeŵp�ǀe sĐheduliŶg / नॗन­�ॎइ� पोटश ोऺ �ॐोलंग

shoƌtest joď fiƌst / षॗट�� ट जॗब फ� ट�

fiƌst Đoŵe fiƌst seƌǀed / फ� ट� कम फ� ट� ऺ� ड�

Correct Answer :­pƌeeŵp�ǀe sĐheduliŶg / �ॎइ� पोटश ोऺ �ॐोलंग (�र��पॐश� अनॏ ॐऺचन) 



Correct Answer :­pƌeeŵp�ǀe sĐheduliŶg / �ॎइ� पोटश ोऺ �ॐोलंग (�र��पॐश� अनॏ ॐऺचन) 

7)

Question Stimulus :­

The process of transferring files from a computer on the Internet to your computer is called
___________. / एक क� � यॐटर ऺॕ इंटरनॕट कॕ �ॊरॊ आपकॕ क� � यॐटर म� फॊइ� ऺ  ट� ॊंऺफर कॎ �ो�यॊ ________
 कऻलॊतॎ ऻॖ।

UploadiŶg / अपलख़ोडंग

Forwarding / फॗरशोड�ग

FTP / FTP

DoǁŶloadiŶg / डॊनलख़ोडंग

Correct Answer :­DoǁŶloadiŶg / डॊनलख़ोडंग 

8)

Question Stimulus :­

IŶ MS Woƌd, To ǀeƌifǇ that the Ŷote teǆt is posi�oŶed ĐoƌƌeĐtlǇ oŶ the page, sǁitĐh to _____________ ǀieǁ oƌ
displaǇ the doĐuŵeŶt iŶ pƌiŶt pƌeǀieǁ. / MS Woƌd म�, यऻ ऺ� यॊोपत करनॕ कॕ ोलए ोक नख़ट टॕ� � ट पॕज पर उोचत �प
ऺॕ रखॊ गयॊ ऻॖ, ______________ � यॐ म� ��च कर�  यॊ ड� यॐम�ट कख़ ो�ंट ो�� यॐ म� ोड� � लॕ कर� ।

Ŷoƌŵal / नॗम�ल

pƌiŶt laǇout / ो�ंट लॕआउट

page laǇout / पॕज लॕआउट

page edit / पॕज एोडट

Correct Answer :­pƌiŶt laǇout / ो�ंट लॕआउट 

9)

Question Stimulus :­

What is the best way to insert a picture Watermark in MS Word (ver.2007 onwards) / MS Word (शि�न
2007 तथॊ इऺऺॕ आगॕ शॊलॕ) म�, ोप� चर शॗटरमॊक�  इ� ऺ ट� करनॕ कॊ ऺश��ॕ� ठ तरॎकॊ � यॊ ऻॖ?

Insert a picture in the header of all pages / ऺभॎ पॕजॕि कॕ ऻॕडर म� एक ोप� चर इ� ऺ ट� करनॊ

Create a template with a picture and use the template for the document / ोप� चर यॏ� त टॕ� � लॕट
ोनोम�त करनॊ और उऺकॊ उपयख़ग ड� यॐम�ट कॕ ोलए करनॊ

Choose custom options, select picture under Page layout menu, Watermark sub­menu / क� टम
ऑ� षंऺ चॏननॊ, पॕज लॕआउट मॕनॐ, शॗटरमॊक�  ऺबमॕनॐ ऺॕ ोप� चर ऺॕलॕ� ट करनॊ

None of the above / उपरख़� त म� ऺॕ कख़ई नऻॎ ं

Correct Answer :­Choose custom options, select picture under Page layout menu, Watermark sub­
menu / क� टम ऑ� षंऺ चॏननॊ, पॕज लॕआउट मॕनॐ, शॗटरमॊक�  ऺबमॕनॐ ऺॕ ोप� चर ऺॕलॕ� ट करनॊ 



menu / क� टम ऑ� षंऺ चॏननॊ, पॕज लॕआउट मॕनॐ, शॗटरमॊक�  ऺबमॕनॐ ऺॕ ोप� चर ऺॕलॕ� ट करनॊ 

10)

Question Stimulus :­

Which of the statements on cloud computing is true? / � लॊउड क� � यॐोटंग कॕ ोशहय म� ोन� न म� ऺॕ कग़न ऺॊ त� य
ऺ� य ऻॖ?

It is a type of Internet­based computing that provides shared computer processing resources and
data to computers and other devices on demand / यऻ एक इंटरनॕट­आधॊ�रत क� � यॐोटंग कॊ �कॊर ऻॖ
जख़ मॊंग पर क� � यॐट �ऺ तथॊ अ� य ोडशॊइऺॕि कख़ षॕयड� क� � यॐटर �ॗऺॕोऺंग �रऺख़ �ऺि तथॊ डॕटॊ �दॊन
करतॊ ऻॖ

It is a set of services provided by Cloud Corporation. / यऻ � लॊउड कॊप�रॕषन �ॊरॊ �द� त ऺॕशॊओं
कॊ ऺमॐऻ ऻख़तॊ ऻॖ

It is a set of internet based services of an application installed in your system / यऻ आपकॕ ोऺ� टम
म� इं� टॊल एक ए� लॎकॕषन कॎ इंटरनॕट आधॊ�रत ऺॕशॊओ ंकॊ ऺमॐऻ ऻख़तॊ ऻॖ

None of the above / उपरख़� त म� ऺॕ कख़ई नऻॎ ं

Correct Answer :­It is a type of Internet­based computing that provides shared computer processing
resources and data to computers and other devices on demand / यऻ एक इंटरनॕट­आधॊ�रत क� � यॐोटंग कॊ
�कॊर ऻॖ जख़ मॊंग पर क� � यॐट �ऺ तथॊ अ� य ोडशॊइऺॕि कख़ षॕयड� क� � यॐटर �ॗऺॕोऺंग �रऺख़ �ऺि तथॊ डॕटॊ �दॊन
करतॊ ऻॖ 

11)

Question Stimulus :­

A hard disk is divided into tracks which are further subdivided into: / ऻॊड� ोड� क ट� ॖ� ऺ  म� ोशभॊोजत ऻख़तॎ ऻॖ
जख़ आगॕ ________ म� उपोशभॊोजत ऻख़तॕ ऻ�।

Clusteƌs / � ल� ट �ऺ

SeĐtoƌs / ऺॕ� ट �ऺ

VeĐtoƌs / शॕ� ट �ऺ

Heads / ऻॕड्ऺ

Correct Answer :­SeĐtoƌs / ऺॕ� ट �ऺ 

12)

Question Stimulus :­

IŶ MS‐DOS, ǁhiĐh ĐoŵŵaŶd is used to displaǇ the suďdiƌeĐtoƌǇ stƌuĐtuƌe of the ĐuƌƌeŶtlǇ logged dƌiǀe
aŶd pause the sĐƌeeŶ displaǇ a�eƌ eaĐh sĐƌeeŶ full of the iŶfoƌŵa�oŶ? / MS‐DOS म�, शत�मॊन म� लॗ� ड ड� ॊइश
कॕ ऺबडॊइरॕ� टरॎ � ट� � चर कख़ ोड� � लॕ करनॕ तथॊ �� यॕक � �ॎन कॕ  ॐऺचनॊ ऺॕ भर जॊनॕ कॕ बॊद � �ॎन ोड� � लॕ कॕ ठऻरॊश कॕ
ोलए ोकऺ कमॊंड कॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ?

Tree

Deltree / f



Dir | more

Tree | more

Correct Answer :­Tree | more 

13)

Question Stimulus :­

Hoǁ to shoǁ the saŵe pƌeseŶta�oŶ ĐoŶ�ŶuouslǇ iŶ MS‐PPT ϮϬϬϳ? / MS‐PPT ϮϬϬϳ म� एक ऻॎ �ि�टॕषन
लगॊतॊर कॖऺॕ �दोष�त कॎ जॊ ऺकतॎ ऻॖ?

ďǇ eŶaďliŶg the op�oŶ ͞Loop ĐoŶ�ŶuouslǇ uŶ�l ͚EsĐ'͟  /  ोशक� प ͞Loop ĐoŶ�ŶuouslǇ uŶ�l ͚EsĐ'͟
लॊगॐ करकॕ

ďǇ eŶaďliŶg the op�oŶ ͞Repeat PƌeseŶta�oŶ͟  /  ोशक� प ͞Repeat PƌeseŶta�oŶ͟ लॊगॐ करकॕ

ďǇ eŶaďliŶg the op�oŶ ͞Shoǁ saŵe PƌeseŶta�oŶ͟  /  ोशक� प ͞Shoǁ saŵe PƌeseŶta�oŶ͟ लॊगॐ करकॕ

PƌeseŶta�oŶ ĐaŶŶot ďe ĐoŶ�Ŷue oŶĐe it fiŶished  /  �ि�टॕषन एक बॊर पॐरॊ ऻख़नॕ कॕ बॊद जॊरॎ नऻॎ ंरखॊ
जॊ ऺकतॊ ऻॖ

Correct Answer :­ďǇ eŶaďliŶg the op�oŶ ͞Loop ĐoŶ�ŶuouslǇ uŶ�l ͚EsĐ'͟  /  ोशक� प ͞Loop ĐoŶ�ŶuouslǇ
uŶ�l ͚EsĐ'͟ लॊगॐ करकॕ 

14)

Question Stimulus :­

A private computer network which is completely controlled by one organization and is used to connect
to multiple locations, extending across a public network like the internet is called ___________ / शऻ
�ॊइशॕट क� � यॐटर नॕटशक�  ोजऺॕ पॐण� �प ऺॕ एक ऺंगठन �ॊरॊ ोनयंो�त ोकयॊ जॊतॊ ऻॖ और अनॕक लख़कॕषंऺ ऺॕ
कनॕ� ट करनॕ कॕ ोलए �यॏ� त ोकयॊ जॊतॊ ऻॖ तथॊ इंटरनॕट जॖऺॕ प��क नॕटशक�  तक ोश� तॊर ोकयॊ जॊतॊ ऻॖ,
कऻलॊतॊ ऻॖ ­

Enterprise Private Network (EPN) / एंटर�ॊइि �ॊइशॕट नॕटशक�

Virtual Private Network (VPN) / शचॏ�अल �ॊइशॕट नॕटशक�

Personal Area Network (PAN) / प �ऺनल ए�रयॊ नॕटशक�

Wireless Local Area Network (WLAN) / शॊयरलॕऺ लख़कल ए�रयॊ नॕटशक�

Correct Answer :­Virtual Private Network (VPN) / शचॏ�अल �ॊइशॕट नॕटशक�  

15)

Question Stimulus :­

A computer assisted method for the recording and analyzing of existing or hypothetical systems is
_______. / क� � यॐटर कॎ ऺऻॊयतॊ ऺॕ कॎ जॊनॕ शॊलॎ मग़जॐदॊ यॊ ऻॊइपख़थॕोटकल (क��त) ोऺ� ट� ऺ  कॎ �रकॊोड�ग
श एनॊलॊइो़जंग कॎ ोशोध ऻॖ ­

Data tƌaŶsŵissioŶ / डॕटॊ ट� ॊंऺोमषन



Data floǁ / डॕटॊ �ख़

Data Đaptuƌe / डॕटॊ कॖ� चर

Data pƌoĐessiŶg / डॕटॊ �ॗऺॕोऺंग

Correct Answer :­Data floǁ / डॕटॊ �ख़ 

16)

Question Stimulus :­

WheŶ shaƌiŶg data iŶ OffiĐe, the ________ doĐuŵeŶt is the doĐuŵeŶt iŶ ǁhiĐh the data ǁas fiƌst eŶteƌed. / OffiĐe
म� डॕटॊ ऺॊझॊ करनॕ पर, ___________ ड� यॐम�ट ऐऺॊ ड� यॐम�ट ऻख़तॊ ऻॖ ोजऺम� ऺबऺॕ पऻलॕ डॕटॊ एंटर ोकयॊ गयॊ थॊ।

souƌĐe / ऺख़ �ऺ

des�Ŷa�oŶ / डॕ��नॕषन

oƌigiŶal / ओ�रोजनल

pƌiŵaƌǇ / �ॊइमरॎ

Correct Answer :­souƌĐe / ऺख़ �ऺ 

17)

Question Stimulus :­

IŶ MS‐DOS, ǁhiĐh ĐoŵŵaŶd is used to pƌoǀide aĐĐess to files loĐated iŶ otheƌ diƌeĐtoƌies oƌ disks? / MS‐
DOS म�, अ� य डॊइरॕ� टरॎि यॊ ोड� � ऺ  म� ��थत फॊइ� ऺ  तक ए� ऺ ॕऺ �दॊन करनॕ कॕ ोलए ोकऺ कमॊंड कॊ
उपयख़ग ोकयॊ जॊतॊ ऻॖ?

Tree

Path

Dir

Cd

Correct Answer :­Path 

18)

Question Stimulus :­

Which of the following is the oldest spreadsheet package? / ोन� न म� ऺॕ � यॊ ऺशॊ�ोधक �ॊचॎन � �ॕडषॎट
पॖकॕज ऻॖ?

VisiCalĐ

Excel

StarCalc

None of the above  /  उपरख़� त म� ऺॕ कख़ई नऻॎ ं



Correct Answer :­VisiCalĐ 

19)

Question Stimulus :­

In MS Word, Ctrl + P is used to _______. / MS Word म�, Ctrl + P _______ करनॕ कॕ ोलए �यख़ग ोकयॊ जॊतॊ ऻॖ।

OpeŶ Paƌagƌaph Dialog Boǆ / पॖरॊ�ॊफ डॊयलॗग बॗ� ओपन

OpeŶ Saǀe Dialog Boǆ / ऺॕश डॊयलॗग बॗ� ओपन

OpeŶ Page Foƌŵat Dialog Boǆ / पॕज फॗम�ट डॊयलॗग बॗ� ओपन

OpeŶ PƌiŶt Dialog ďoǆ / ो�ंट डॊयलॗग बॗ� ओपन

Correct Answer :­OpeŶ PƌiŶt Dialog ďoǆ / ो�ंट डॊयलॗग बॗ� ओपन 

20)

Question Stimulus :­

WhiĐh of the folloǁiŶg aƌe ĐoƌƌeĐt ĐhaƌaĐteƌ eŶ��es foƌ ͞CopǇƌight͟ sǇŵďol? / ोन� न म� ऺॕ � यॊ ͞CopǇƌight͟
ोऺंबल कॕ ोलए ऺऻॎ कॖरॕ� टर ए� टॊइटॎि ऻॖ?

&#ϭϰϵ;

&#ϭϱϵ;

&#ϭϲϵ;

&#ϭϳϵ;

Correct Answer :­&#ϭϲϵ; 

21)

Question Stimulus :­

IŶ LiŶuǆ, ǁhat ĐoŵŵaŶd is used to soƌt the liŶes of data iŶ a file iŶ alphaďe�Đal oƌdeƌ? / ोलन� ऺ  म�, फॊइल म� डॕटॊ
कॎ लॊइ� ऺ  कख़ ए� फॊबॕोटकल ऑड�र म� ऺॗट� करनॕ कॕ ोलए ोकऺ कमॊंड कॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ?

soƌt ‐ ƌ

st

sh

soƌt

Correct Answer :­soƌt 

22)

Question Stimulus :­

In MS Excel (ver. 2010) data can be imported from _________ / MS Excel (शि�न 2010) म�, __________
 ऺॕ डॕटॊ इ� पख़ट� ोकयॊ जॊ ऺकतॊ ऻॖ।



Access / ए� ऺ ॕऺ

Web / शॕब

Text / टॕ� � ट

All of the above / उपरख़� त ऺभॎ

Correct Answer :­All of the above / उपरख़� त ऺभॎ 

23)

Question Stimulus :­

In excel, Status indicators are located on the ______. / excel म�, � टॕटऺ इंडॎकॕट �ऺ ____________  पर ��थत
ऻख़तॕ ऻ�।

Vertical scroll bar / शोट�कल � �ॗल बॊर

Horizontal scroll bar / ऻख़�रजंटल � �ॗल बॊर

Formula bar / फॗमॐ�लॊ बॊर

Standard toolbar / � ट�डड� टॐ लबॊर

Correct Answer :­Formula bar / फॗमॐ�लॊ बॊर 

24)

Question Stimulus :­

With respect to OSI Model, Routers operate at layer _____. LAN switches operate at layer _____. Ethernet hubs
operate at layer _____. Word processing operates at layer _____. / OSI Model कॕ ऺंदभ� म�, रॊउट �ऺ लॕयर _______ पर
ऑपरॕट करतॕ ऻ�। LAN ��चॕि लॕयर _____  पर ऑपरॕट करतॕ ऻ�। ईदरनॕट ऻ� ऺ  लॕयर ________ पर ऑपरॕट करतॕ ऻ�। शड�
�ॗऺॕोऺंग लॕयर ________  पर ऑपरॕट करतॊ ऻॖ।

ϯ, ϯ, ϭ, ϳ

ϯ, Ϯ, ϭ, ŶoŶe

ϯ, Ϯ, ϭ, ϳ

ϯ, ϯ, Ϯ, ŶoŶe

Correct Answer :­ϯ, Ϯ, ϭ, ŶoŶe 

25)

Question Stimulus :­

In excel, Rounding errors can occur / excel म�, रॊउोडंग एर �ऺ ऻख़ ऺकतॎ ऻ�, ___________

When you use multiplication, division, or exponentiation in a formula / जब आप फॗमॐ�लॊ म� गॏणन,
ोशभॊजन यॊ घॊत ऺमॎकरण कॊ उपयख़ग करतॕ ऻ�

WheŶ Ǉou use addi�oŶ aŶd suďtƌaĐ�oŶ iŶ a foƌŵula / जब आप फॗमॐ�लॊ म� यख़ग तथॊ � यशकलन कॊ
उपयख़ग करतॕ ऻ�



BeĐause eǆĐel uses hiddeŶ deĐiŵal plaĐes iŶ Đoŵputa�oŶ / � यख़ोंक ए� ऺ ॕल ऺंगणनॊ म� ोछपॕ �ए
दषमलश � थॊनख़ ंकॊ उपयख़ग करतॊ ऻॖ

WheŶ Ǉou shoǁ the ƌesults of foƌŵulas ǁith diffeƌeŶt deĐiŵal plaĐes that the ĐalĐulated ƌesults / जब आप
फॗमॐ�लॊि कॕ प�रणॊम ऺंगोणत प�रणॊमख़ ंऺॕ ोभ� न दषमलश � थॊन शॊलॕ प�रणॊम �दोष�त करतॕ ऻ�

Correct Answer :­When you use multiplication, division, or exponentiation in a formula / जब आप
फॗमॐ�लॊ म� गॏणन, ोशभॊजन यॊ घॊत ऺमॎकरण कॊ उपयख़ग करतॕ ऻ� 

Topic:­ General Logical Reasoning
1)

Question Stimulus :­

If SMILE is coded 36492 and RUN is coded 058, then how is 90089 coded? / योद SMILE कख़ 36492 ऺॕ कख़ोडत
ोकयॊ जॊतॊ ऻॖ और RUN कख़ 058 ऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ, तख़ 90089 कख़ कॖऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ?

LRRNL 

RNLLR

LRLNN

NRRLL

Correct Answer :­LRRNL  

2)

Question Stimulus :­

If BOTTLE is coded FSXXPI, then how is CALENDER coded? / योद BOTTLE कख़ FSXXPI ऺॕ कख़ोडत ोकयॊ
जॊतॊ ऻॖ, तख़ CALENDER कख़ कॖऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ?

GEPIRHIV

GEPJRHIV

GEQIRHIV

GEPISHIV

Correct Answer :­GEPIRHIV 

3)

Question Stimulus :­

The least number that must be subtracted from 319 so that the remainder is exactly divisible by 23 is: / शऻ
�ॐनतम ऺं�ॊ जख़ 319 ऺॕ घटॊयॎ जॊनॎ चॊोऻयॕ ोजऺऺॕ षॕह, 23 ऺॕ ठॎक ोशभॊ� ऻख़:

20

14

16

4



Correct Answer :­20 

4)

Question Stimulus :­

Two friends, A and B start from places X and Y, respectively which are at a distance of 390 km. Find the time
taken by them to cross each other, if they are travelling in opposite directions at a speed of 5 kmph and 8
kmph, respectively. / दख़ दख़�, A और B �मष: �थॊन X और Y ऺॕ यॊ�ॊ षॏ� करतॕ ऻ�, जख़ 390 ोकमॎ कॎ दॐ रॎ पर ऻॖ।
उनकॕ �ॊरॊ एक दॐ ऺरॕ कख़ पॊर करनॕ कॕ ोलयॕ ोलयॊ गयॊ ऺमय ोनकॊोलयॕ योद शॕ �मष: 5 ोकमॎ �ोत घ�ॕ और 8 ोकमॎ
�ोत घ�ॕ कॎ चॊल ऺॕ ोशपरॎत ोदषॊओ ंम� यॊ�ॊ कर रऻ� ऻ�।

10 hrs

20 hrs

30 hrs

40 hrs

Correct Answer :­30 hrs 

5)

Question Stimulus :­

Tap A fills a tank in five hours, Tap B fills the same tank in fifteen hours, and Tap C empties the tank in ten
hours. When all the three taps are opened together, the tank will be filled up within: / नल A एक टंकॎ कख़ पॊँच
घ�ख़ ंम� भरतॊ ऻॖ, नल B उऺॎ टंकॎ कख़ पं�ऻ घ�ख़ ंम� भरतॊ ऻॖ, और नल C टंकॎ कख़ दऺ घ�ख़ ंम� खॊलॎ करतॊ ऻॖ। जब
ऺभॎ तॎन नलख़ ंकख़ एक­ऺॊथ खख़लॊ जॊतॊ ऻॖ, तख़ ट�क इतनॕ ऺमय तक भर जॊयॕगॊ:

10 hrs / 10 घ�ॕ

6 hrs / 6 घ�ॕ

5 hrs / 5 घ�ॕ

3 hrs / 3 घ�ॕ

Correct Answer :­6 hrs / 6 घ�ॕ 

6)

Question Stimulus :­

Which is the second vowel after the 13th alphabet in the alphabet series? / अ�र �ं॑खलॊ म� 13श� अ�र कॕ बॊद
दॐ ऺरॊ �र कग़न ऺॊ ऻख़तॊ ऻॖ?

A

I

O

U

Correct Answer :­U 

7)



Question Stimulus :­

If 'ski rips tir' means 'high church steeple', 'tir lon hyt' means 'simple church wedding', the code for which word
would be 'tir'? / योद 'ski rips tir' कॊ मतलब ऻॖ 'high church steeple', 'tir lon hyt' कॊ मतलब ऻॖ 'simple church
wedding', तख़ ोकऺ ष� कॊ कख़ड 'tir' ऻख़गॊ?

Church   

High

Steeple

Simple

Correct Answer :­Church    

8)

Question Stimulus :­

The series given below contains a sequence of numbers. Identify the INCORRECT combination: / नॎचॕ दॎ गई
�ं॑खलॊ म� ऺं�ॊओ ंकॊ �म उप��थत ऻॖ। गलत ऺंयख़जन पऻचॊोनयॕ: 

1, 8, 27, 64, 125, 215

125

64

215

1

Correct Answer :­215 

9)

Question Stimulus :­

Complete the series choosing the missing number: / लॏ� ऺं�ॊ चॏनकर �ं॑खलॊ कख़ पॐरॊ कॎोजए: 

2, 8, 3, 27, 4, ______

32

48

64

82

Correct Answer :­64 

10)

Question Stimulus :­

103 x 104 = ?



10,712

10,000

10,812

10,512

Correct Answer :­10,712 

11)

Question Stimulus :­



Correct Answer :­  

12)

Question Stimulus :­

Find the odd one out: / ोशहम �ॊत कॎोजए:

Wolf / भॕोीयॊ

Panther / चॎतॊ

Lion / षॕर

Tiger / बॊघ

Correct Answer :­Wolf / भॕोीयॊ 

13)

Question Stimulus :­

Find the average. 11, 13, 9, 9, 7, 12, 8, and 11 / ोन� कॊ औऺत ोनकॊोलयॕ। 11, 13, 9, 9, 7, 12, 8, और 11

12

11

10

9

Correct Answer :­10 

14)

Question Stimulus :­

A person saves 8 % of his income. His income increases by 16 %, but the savings remain the same. Find the
increase in the expenditure. / एक इंऺॊन अपनॎ आय कॊ 8 % बचॊतॊ ऻॖ। उऺकॎ आय 16% ऺॕ बु जॊतॎ ऻॖ, लॕोकन
बचत ऺमॊन रऻतॎ ऻॖ। खच� म� बुख़�रॎ ोनकॊोलयॕ।

10 % 

12.5 %



14.9 % 

17.3 %

Correct Answer :­17.3 % 

15)

Question Stimulus :­

A ƌeduĐ�oŶ of ϮϬ% iŶ the pƌiĐe of sugaƌ eŶaďles a puƌĐhaseƌ to oďtaiŶ Ϯ.ϱ kg ŵoƌe foƌ Rs. ϭϲϬ. FiŶd the oƌigiŶal
pƌiĐe peƌ kg of sugaƌ. / चॎनॎ कॎ कॎमत म� 20% कॎ कमॎ, एक खरॎदॊर कख़ ऺ�म बनॊतॎ ऻॖ ोक शख़ 160 �पए म� 2.5
ोकलख़ चॎनॎ अोधक खरॎद ऺकॕ। �ोत ोकलख़ कॕ ोऻऺॊब ऺॕ चॎनॎ कॊ शॊ�ोशक मॐ� �ॊत कर� ।

Rs. ϭϮ / ϭϮ �पयॕ

Rs. ϭϱ / ϭϱ �पयॕ

Rs. ϭϲ / ϭϲ �पयॕ

Rs. ϭϴ / ϭϴ �पयॕ

Correct Answer :­Rs. ϭϲ / ϭϲ �पयॕ 

16)

Question Stimulus :­

A pump fills 1,200 litres of water in a tank, after which it remains 60 % empty. How much more water should
go in to fill the tank to the brim? / एक प� ट�क म� 1,200 लॎटर पॊनॎ भरतॊ ऻॖ, ोजऺकॕ बॊद शऻ 60% खॊलॎ रऻतॊ ऻॖ।
ट�क कख़ ऊपर तक भरनॕ कॕ ोलयॕ ोकतनॊ पॊनॎ और अंदर जॊनॊ चॊोऻयॕ?

1,200 l / 1,200 लॎटर

1,800 l / 1,800 लॎटर

2,000 l / 2,000 लॎटर

3,000 l / 3,000 लॎटर

Correct Answer :­1,800 l / 1,800 लॎटर 

17)

Question Stimulus :­

A person's present age is two­fifth of the age of his mother. After 8 years, he will be one­half of the age of his
mother. How old is the mother at present? / एक ��� कॎ शत�मॊन आयॏ उऺकॎ मॊतॊ कॎ आयॏ कॎ 2/5 ऻॖ। आठ
शह� कॕ बॊद, शऻ अपनॎ मॊतॊ कॎ आयॏ कॊ आधॊ ऻख़गॊ। मॊतॊ कॎ शत�मॊन आयॏ �ॊ ऻॖ?

38

40

42

44



Correct Answer :­40 

18)

Question Stimulus :­

How many days will there be from 22nd January, 2004 to 5th June, 2004 (both days are included)? / 22 जनशरॎ,
2004 ऺॕ 5 जॐन, 2004 तक (दख़नंख़ ोदन षॊोमल ऻ�) ोकतनॕ ोदन ऻख़गॕं?

134 days / 134 ोदन

135 days / 135 ोदन

136 days / 136 ोदन

138 days / 138 ोदन

Correct Answer :­136 days / 136 ोदन 

19)

Question Stimulus :­



Correct Answer :­  

20)

Question Stimulus :­

Complete the series choosing the missing letter/s: / लॏ� अ�र चॏनकर �ं॑खलॊ कख़ पॐरॊ कॎोजए: 

ab__abb__ba__b__

a, a, a, b

a, b, a, b

b, a, a, a 

b, a, b, a

Correct Answer :­a, a, a, b 

21)

Question Stimulus :­

Kamlesh remembers that his brother Suraj's birthday falls after 29th October, but before 5th November, while
Sheetal remembers that Suraj's birthday falls before 31st October, but after 20th October. On which date does
Suraj's birthday fall? / कमलॕष कख़ यॊद ऻॖ ोक उऺकॕ भॊई  ॐऺरज कॊ ज�ोदन 29 अ�ॐ बर कॕ बॊद, लॕोकन 5 नश�र ऺॕ
पऻलॕ पीतॊ ऻॖ, जबोक षॎतल कख़ यॊद ऻॖ ोक  ॐऺरज कॊ ज�ोदन 31 अ�ॐ बर ऺॕ पऻलॕ, लॕोकन 20 अ�ॐ बर कॕ बॊद पीतॊ
ऻॖ ।  ॐऺरज कॊ ज�ोदन ोकऺ तॊरॎख कख़ पीतॊ ऻॖ?

29th October / 29 अ�ॐ बर

30th October / 30 अ�ॐ बर

31st October / 31 अ�ॐ बर

None of the above / उपयॏ�� म� ऺॕ कख़ई नऻॎ ं

Correct Answer :­30th October / 30 अ�ॐ बर 

22)

Question Stimulus :­

If 7a­3b = 40 and 7b+3a = 42, then a­b =? / योद 7a­3b = 40 और 7b+3a = 42, तख़ a­b =?  



7

3

14

4

Correct Answer :­4 

23)

Question Stimulus :­

The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: / नॎचॕ दॎ
गई �ंखलॊ म� अ�रख़ ंऔर ऺं�ॊओ ंकॊ �म उप��थत ऻॖ। गलत ऺंयख़जन पऻचॊोनयॕ:

i. qoqp9pq0o0pq    ii. qoqp9pq0o0pq    iii. qoqp9pq0o0pq      iv. qoqp9pq0o0ppq

i

ii

iii

iv

Correct Answer :­iv 

24)

Question Stimulus :­

(480/240) × (17/34) – (32 × 4) / 8= ?

­10

­13

­15

­18

Correct Answer :­­15 

25)

Question Stimulus :­

(860/5) ­ (100/10) × 0 + (44/11) × 8 ­ 16 × 5 = ?

124

134

130

120

Correct Answer :­124 



Topic:­ General Management
1)

Question Stimulus :­

WhiĐh of the folloǁiŶg is the eǆpaŶsioŶ of the teƌŵ ESOP? / ोन� म� ऺॕ कग़न ऺॊ ESOP कॊ ोश�॑त �प ऻॖ?

Employees’ Stock Option Plan / ए��ॗयॎ �ॗक ऑ�षन �ॊन

Electronic Statement of Purpose / इलॕ�� ॗोनक �ॕटम�ट ऑू पप�ऺ

Economically Sustainable Overseas Project / इकख़नॗोमकलॎ ऺ�ॕनॕबल ओशरऺॎि �ख़जॕ�

Environmentally Sustainable Outreach Plan / इकख़नॗोमकलॎ ऺ�ॕनॕबल आउटरॎच �ॊन

Correct Answer :­Employees’ Stock Option Plan / ए��ॗयॎ �ॗक ऑ�षन �ॊन 

2)

Question Stimulus :­

_____________  is the concentration of authority at central points within an organization / _____________, एक
ऺंगठन कॕ भॎतर क� �ॎय ोबंदॏओ ंपर �ॊोधकॊर कॊ ऺंक� �ण ऻॖ।

Decentralization / ोशकॕ�ॎकरण

Centralization / क� �ॎकरण

Delegation / ��ॊयख़जन

Division of work / कॊय� ोशभॊजन

Correct Answer :­Centralization / क� �ॎकरण 

3)

Question Stimulus :­

Which of the following is an index of the liquidity of a business? / ोन� नोल�खत म� ऺॕ कग़न,
� यॊपॊर कॎ तरलतॊ कॎ एक  ॐऺचक ऻॖ?

Current ratio / शत�मॊन अनॏपॊत

Equity gearing / षॕयर लॊभ

Debt­Service coverage ratio / ऋण ऺॕशॊ कशरॕज अनॏपॊत

Ratio of equity to Total outside liabilities / कॏ ल बॊऻरॎ दॕनदॊ�रयख़ ंकॕ ोलए षॕयर कॊ अनॏपॊत

Correct Answer :­Current ratio / शत�मॊन अनॏपॊत 

4)

Question Stimulus :­

An organization adopts a cluster of decisions on what goals to pursue and how to use the available resources in
order to achieve those goals. What is this called? /

एक ऺंगठन, अपनॕ कॏ छ ोशषॕह ल�ख़ ंकख़ पॐरॊ करनॕ और उपल� ऺंऺॊधनख़ ंकॊ उपयख़ग करतॕ �ए उन ल�ख़ ंकख़



एक ऺंगठन, अपनॕ कॏ छ ोशषॕह ल�ख़ ंकख़ पॐरॊ करनॕ और उपल� ऺंऺॊधनख़ ंकॊ उपयख़ग करतॕ �ए उन ल�ख़ ंकख़
पॐरॊ करनॕ कॕ ोलए कॏ छ चॏोन�ॊ ूॖऺलख़ ंकख़ अपनॊतॊ ऻॖ। इऺॕ �ॊ कऻॊ जॊतॊ ऻॖ?

Strategy / कॊय�नॎोत (रणनॎोत)

Technology / �ग़�ख़ोगकॎ

Entrepreneurship / उ�ोमतॊ

Business idea / ोबजनॕऺ आइोडयॊ

Correct Answer :­Strategy / कॊय�नॎोत (रणनॎोत) 

5)

Question Stimulus :­

Which of the following is not a current asset? / ोन� म� ऺॕ कग़न एक चॊलॐ प�रऺंप�� त नऻॎ ंऻॖ ?

Cash / नकदॎ

Inventory / श�ॏ ॐऺचॎ

Prepaid expenses / पॐश�द� �य

Building / इमॊरत

Correct Answer :­Building / इमॊरत 

6)

Question Stimulus :­

Which of these types of off –the­ job development methods deals with personality development and provides an
approach for defining and analyzing the interaction between people? / इनम� ऺॕ कॊय� ऺॕ बॊऻर कॕ ोशकॊऺ ोशोधयख़ ंकॕ
कग़न ऺॊ �कॊर,  ���� कॕ ोशकॊऺ ऺॕ ऺंबंध रखतॊ ऻॖ और लख़गख़ ंकॕ बॎच कॎ अ�ख़�ो�यॊ कख़ प�रभॊोहत तथॊ ोश�ॕहण कॊ
एक �ो�कख़ण �दॊन करतॊ ऻॖ?

Sensitivity training / ऺंशॕदनषॎलतॊ �ोष�ण

Transactional analysis (TA) / ऺं�शऻॊर ोश� लॕहण

Conferences / ऺ�लॕन

Lectures / �ॊ�ॊन

Correct Answer :­Transactional analysis (TA) / ऺं�शऻॊर ोश� लॕहण 

7)

Question Stimulus :­

Understanding the basics of  Trial balance, profit and loss account and Balance sheet would be considered as a
___________ skill for a Accounts Managers./ एक लॕखॊ �बंधक कॕ ोलए,  क�ॊ ोमलॊन, लॊभ और ऻॊोन खॊतॊ
और तॏलनप� कॕ मॐल कख़ ऺमझॊनॊ, ___________ कग़षल कॕ �प म� ऺमझ� जॊय�गॕ।

Conceptual /शॖचॊ�रक



Technical /तकनॎकॎ

Design /�पॊंकन

Non ­ Technical / गॖर­तकनॎकॎ

Correct Answer :­Technical /तकनॎकॎ 

8)

Question Stimulus :­

When employee focuses more on improving the productivity and quality for achieving
success then it is known as _____________. / जब कम�चॊरॎ, ऺफलतॊ �ॊ� करनॕ कॕ ोलए उ�ॊदकतॊ
और गॏणश�ॊ  ॏऺधॊर पर अोधक कॕ��त ऻख़तॕ ऻ� तब यऻ _____________ कॕ �प म� जॊनॊ जॊतॊ ऻॖ।

Customer service improvements / �ॊऻक ऺॕशॊ  ॏऺधॊर

Manufacturing simplification / ोशोनमॊ�ण ऺरलॎकरण

EŵploǇee͛s paƌ�Đipa�oŶ / कम�चॊ�रयख़ ंकॎ ऺऻभॊोगतॊ

Quality management / गॏणश�ॊ �बंधन

Correct Answer :­EŵploǇee͛s paƌ�Đipa�oŶ / कम�चॊ�रयख़ ंकॎ ऺऻभॊोगतॊ 

9)

Question Stimulus :­

Which of the following do not constitute working capital management? / ोन� म� ऺॕ कग़न
कॊय�षॎल पॐंजॎ �बंधन कॊ गठन नऻॎ ंकरतॊ ऻॖ?

Patent / एक�

Cash in hand and cash at bank / ऻॊथ म� नकदॎ और ब�क म� नकदॎ

Marketable securities  / ोब�ॎ यख़� �ोतभॐोतयॊं

Debtors  / दॕनदॊर

Correct Answer :­Patent / एक� 

10)

Question Stimulus :­

___________ is a ĐoŵŵoŶ souƌĐe of iŶfoƌŵa�oŶ ǁhiĐh is used ďǇ ŵaŶageƌs fƌeƋueŶtlǇ to ideŶ�fǇ the aĐtual
peƌfoƌŵaŶĐes ǁith sta�s�Đal aŶd otheƌ ƌepoƌts. / ___________ ॐऺचनॊ कॊ एक आम �ख़त ऻॖ, जख़ �बंधकख़ ं�ॊरॊ
ऺॊं��कॎ और अ� �ोतशॕदनख़ ंकॕ ऺॊथ शॊ�ोशक ोन�ॊदन कॎ पऻचॊन करनॕ कॕ ोलए कई बॊर �यॏ� ोकयॊ जॊतॊ ऻॖ।

Comparing / तॏलनॊ

Measurement / मॊपन

Taking managerial action / �बंधकॎय कॊय�शॊऻॎ करनॊ

Formalization / औपचॊ�रकॎकरण



Correct Answer :­Measurement / मॊपन 

11)

Question Stimulus :­

A leader who inspires the followers though personal vision and energy is known as / एक अ�ग, जख़ अनॏगॊोमयख़ ं
कख़ ���गत �ो�कख़ण और ऊजॊ� �ॊरॊ �ॕ�रत करतॊ ऻॖ, कऻलॊतॊ ऻॖ ­

Autocratic / एकतं�ॎय 

Democratic / लख़कतं�ॎय

Charismatic / चम�ॊरॎ 

Benevolent / ोऻतकॊरॎ 

Correct Answer :­Charismatic / चम�ॊरॎ  

12)

Question Stimulus :­

A company engaged in online marketing of its products is called __________________ / अपनॕ उ�ॊदख़ ंकॎ
ऑनलॊइन ोशपणन म� लगॎ कंपनॎ कख़  __________________  कऻॊ जॊतॊ ऻॖ। 

 

An internet company / एक इंटरनॕट कंपनॎ

An e­business company / एक ई ­ ोबजनॕऺ कंपनॎ

An intranet company / एक इंट� ॊनॕट कंपनॎ

An extranet company / एक ए�� ॊनॕट कंपनॎ 

Correct Answer :­An e­business company / एक ई ­ ोबजनॕऺ कंपनॎ 

13)

Question Stimulus :­

The after tax cost of debt is expressed as:______________ / ऋण कॎ कर प�ॊत लॊगत कख़
______________ ऺॕ �� ोकयॊ जॊतॊ ऻॖ।

Kd = Y/k(1­T)

Kd = Y(1­T)

K = (1­t)/Y

K = Y

Correct Answer :­Kd = Y(1­T) 

14)

Question Stimulus :­



Debtors will appear in the books of accounts when / दॕनदॊर, खॊतॊ बऻॎ म� तब ोदखॊई दॕगॊ जब ________

Cash sales are made / नक़द ोब�ॎ ोकयॊ जॊयॕ।

Credit sales are made / उधॊर ोब�ॎ ोकयॊ जॊयॕ।

Cash purchases made / नक़द �य ोकयॊ जॊयॕ।  

Credit purchases made / उधॊर �य ोकयॊ जॊयॕ।

Correct Answer :­Credit sales are made / उधॊर ोब�ॎ ोकयॊ जॊयॕ। 

15)

Question Stimulus :­

When a mistake is committed while totalling the subsidiary book, it is called an_______.
/ ऺऻॊयक बऻॎ कॎ गणनॊ कॕ दग़रॊन जब एक गलतॎ ऻख़ जॊतॎ ऻॖ, तख़ इऺॕ _______ कऻतॕ ऻ�।

Error of costing / लॊगत ोनधॊ�रण कॎ �ॏोट

Errors of carrying forward / अ�ॕोषत शऻन कॎ �ॏोट

Error of posting / �ोशो� कॎ �ॏोट

Error of principle / ोऺ�ॊंत कॎ �ॏोट

Correct Answer :­Error of costing / लॊगत ोनधॊ�रण कॎ �ॏोट 

16)

Question Stimulus :­

Who is a first­line manager? / फ� ट�­लॊइन (�थम पं��) �बंधक कग़न ऻॖ?

A manager who is the first point of contact between the organisation and the
clients or public. / शख़ �बंधक, जख़ ऺंगठन और �ॊऻकख़ ंयॊ जनतॊ कॕ बॎच ऺंपक�  कॊ पऻलॊ ोबंदॏ ऻॖ।

A manager who is responsible for the daily supervision of non­managerial
employees. / शख़ �बंधक, जख़ गॖर‐�बंधकॎय कम�चॊ�रयख़ ंकॕ दॖोनक पय�शॕ�ण कॕ ोलए ोज�ॕदॊर ऻॖ।

A non­managerial employee promoted (or a fresh hand recruited) as an officer for
the first time. / जब एक गॖर­�बंधकॎय कम�चॊरॎ (यॊ ऻॊल म� चॏनॊ गयॊ कम�चॊरॎ) पदख़�त ऻख़कर पऻलॎ बॊर
अोधकॊरॎ बनतॊ ऻॖ।

An intern or an apprentice or a trainee. / एक �ोष�ॏ, यॊ नग़ोऺ�खयॊ यॊ एक  �ोष�णॊथ�

Correct Answer :­A manager who is responsible for the daily supervision of non­
managerial employees. / शख़ �बंधक, जख़ गॖर‐�बंधकॎय कम�चॊ�रयख़ ंकॕ दॖोनक पय�शॕ�ण कॕ ोलए ोज�ॕदॊर ऻॖ। 

17)

Question Stimulus :­

_____________ is an art of getting things done through and with others / ____________, दॐ ऺरख़ ंकॕ ऺॊथ और उनकॕ
मॊ�म ऺॕ चॎिख़ ंकख़ �ॊ� करनॕ कॎ कलॊ कऻलॊतॎ ऻॖ।

Co­ordination / ऺम�य



Control / ोनयं�ण

Planning  / यख़जनॊ

Management / �बंधन

Correct Answer :­Management / �बंधन 

18)

Question Stimulus :­

How does the working capital cycle affect the turnover? / कॏ ल ोब�ॎ (टन�ओशर) कख़ कॊय�षॎल पॐंजॎ
च�, ोकऺ �कॊर �भॊोशत करतॊ ऻॖ?

The longer the working capital cycle, the higher the turnover / दॎघ� कॊय�षॎल पॐंजॎ च�,
उ� च कॏ ल ोब�ॎ (टन�ओशर)

The shorter the working capital cycle, the higher the turnover / छख़टॎ कॊय�षॎल पॐंजॎ च�,  उ�तर कॏ ल ोब�ॎ
(टन�ओशर)

The turnover is independent of the working capital cycle / कॏ ल ोब�ॎ (टन�ओशर), कॊय�षॎल पॐंजॎ च� पर
ोनभ�र नऻॎ ंकरतॊ ऻॖ। 

The working capital cycle plus the turnover is constant / कॏ ल ोब�ॎ (टन�ओशर) कॕ ऺॊथ
कॊय�षॎल पॐंजॎ च�, ��थर ऻॖ।

Correct Answer :­The shorter the working capital cycle, the higher the turnover / छख़टॎ कॊय�षॎल पॐंजॎ च�,
 उ�तर कॏ ल ोब�ॎ (टन�ओशर) 

19)

Question Stimulus :­

Gross profit is calculated by using ______________formula. / ऺकल लॊभ कॊ प�रकलन, _____
ॐऺ� �ॊरॊ ोकयॊ जॊतॊ ऻॖ।

sales­cost of goods sold / ोश�य ­ बॕचॎ गई ऺॊमो�यख़ ंकॎ लॊगत

sales­all expenses / ोश�य ­ ऺभॎ �य

assets­liabilities / ऺंपो� ­ दॕनदॊ�रयख़ ं

sales­liabilities / ोश�य ­ दॕनदॊ�रयख़ ं

Correct Answer :­sales­cost of goods sold / ोश�य ­ बॕचॎ गई ऺॊमो�यख़ ंकॎ लॊगत 

20)

Question Stimulus :­

_________  plans are designed to achieve strategic goals. / _________ यख़जनॊएं, ऺॊम�रक ल�ख़ ंकख़ �ॊ� करनॕ कॕ ोलए
तॖयॊर कॎ जॊतॎ ऻ�।

Strategic / यॏ�� तपॐण�

Technical /तकनॎकॎ



Operational / प�रचॊलन

Short­term / अ�ॊशोध

Correct Answer :­Strategic / यॏ�� तपॐण� 

21)

Question Stimulus :­

Identify the nominal account from the below given list / नॎचॕ दॎ गयॎ  ॐऺचॎ म� ऺॕ आय ­�य लॕखॊ कख़
पऻचॊन� :

Machinery account / मषॎनरॎ लॕखॊ

Cash account / नकद लॕखॊ

Rent account / ोकरॊयॊ लॕखॊ

Debtors account / दॕनदॊर लॕखॊ

Correct Answer :­Rent account / ोकरॊयॊ लॕखॊ 

22)

Question Stimulus :­

The transactions where no cash is involved are known as _________. / शऻ लॕनदॕन, जऻॊं कख़ई नकदॎ षॊोमल नऻॎ ंऻॖ,
 _________ कऻलॊतॊ ऻॖ।

Full cash transactions / पॐण� नकद लॕनदॕन

Non­cash transactions / गॖर ‐ नकद लॕनदॕन

Cheque transactions / चॕक लॕनदॕन

All of the above / उपरख़� ऺभॎ

Correct Answer :­Non­cash transactions / गॖर ‐ नकद लॕनदॕन 

23)

Question Stimulus :­

Which of the following selection tests is conducted by organizations to measure the general mental ability of
individuals? / ोन� म� ऺॕ ोकन चयन परॎ�णख़ ंकख़ ��� कॎ ऺॊमॊ� मॊनोऺक �मतॊ कॕ मॊपन कॕ ोलए ऺंगठन �ॊरॊ
आयख़ोजत ोकयॊ जॊतॊ ऻॖ?

Dexterity test / ोनपॏणतॊ परॎ�ण

Intelligence test / बॏ�� परॎ�ण

Personality test / ���� परॎ�ण

Achievement test / उपल�� परॎ�ण

Correct Answer :­Intelligence test / बॏ�� परॎ�ण 



24)

Question Stimulus :­

Which of the following formula is used to calculate ARR? / ोन� म� ऺॕ कग़न ऺॊ  ॐऺ� ARR कॎ गणनॊ
कॕ ोलए �यॏ� ऻख़तॊ ऻॖ?

Accounting Rate of Return (ARR) =  (Net Income)/(Average Investment) / लॕखॊ �ोतफल दर (ARR)  =(ोनशल
आय) /(औऺत ोनशॕष)

Accounting Rate of Return (ARR) =  (Average loss)/(Net Investment)  / लॕखॊ �ोतफल दर (ARR)  =(औऺत
ऻॊोन) / (षॏ� ोनशॕष)

 

Accounting Rate of Return (ARR) =  (Net Income)/( Net Investment)  / लॕखॊ �ोतफल दर (ARR)   =(ोनशल
आय) / (ोनशल ोनशॕष)

Accounting Rate of Return (ARR) =  (Gross Profit)/(Average Investment) /  लॕखॊ �ोतफल दर (ARR)  =(ऺकल
लॊभ) / (औऺत ोनशॕष)

Correct Answer :­Accounting Rate of Return (ARR) =  (Net Income)/(Average Investment) / लॕखॊ �ोतफल दर
(ARR)  =(ोनशल आय) /(औऺत ोनशॕष) 

25)

Question Stimulus :­

Which of the following is the term used for describing the payment of special
compensation usually tied to performance? / ोन� म� ऺॕ कग़न ऺॊ पद ोन�ॊदन ऺॕ ऺंबंोधत ोशषॕह �ोतपॐोत�
कॕ भॏगतॊन कख़ �� करनॕ कॕ ोलए �यॏ� ऻख़तॊ ऻॖ?

Tax / कर

Overtime wages / अोधऺमय शॕतन

Incentive bonus / �ख़�ॊऻन बख़नऺ

Benefit / ोऻतलॊभ

Correct Answer :­Incentive bonus / �ख़�ॊऻन बख़नऺ 


